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Instructions - (2]
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1.  The candidate should read all the jnstruﬁmns printed on the Question Paper Booklet before

answering,

. EEL“- _} I
2. ﬂm.C{Tﬂiifdﬂfc should not open the Qiiestion Paper Booklet SEAL, until the indication is given by the
Invigilator to start answering. -

3. After the Invigilator indicates tafﬁﬁ: the Question Paper Booklet SEAL, ensure that the Question
Paper Booklet contains all the 150-questions (including four choices/options for each question) printed
on it. If there are any defocts like missing question(s) or option(s), improper print, etc, please ask the
Invigilator for replacement of the Question Paper Booklet immediately.

4. Only after satisfying that Question Paper Booklet is in full shape, the candidate shall write his/her
Hall Ticket Number in the box provided on the Question Paper Booklet.

5. Before start answering, Question Paper Booklet Number and Group-IIl Services Paper Number should
be written in the space provided and gppropriate circles have to be darkened in the OMR Answer
Sheet. -

6.  The candidate shall obtain the sz_?p‘ii;ure of the Invigilator in the appropriate box provided on the
Question Paper Booklet. E

=

7. While answering, choose the BEST appropriate answer from the four options given below the question

and darken the same in the correspouding circle in the OMR Answer Sheet. Do not shade more than
one circle for a question. S

8.  The candidate shall not mark the answer options on the Question Paper Booklet. The scanned copy of
each candidate’s OMR Answer Skeetwill be made available in the candidate’s login in due course.

9.  The candidate has to write the exant in the medium of language chosen during the registration process.

10. Rough work should be done only in the space provided for that purpose in the Question Paper Booklet.
No other loose sheet of paper will be allowed into the Examination Hall.
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11.  The Question Paper Booklet is printed in bilingual viz. English and Telugu or English and Urdu. In
case of any ambiguity between English and Telugu or between English and Urdu, the English version
will be considered as the authentic and final version for valuation purpose. If appropriate word is not
found in Telugu or Urdu, it would be transliterated.

12.  The candidate should not leave the gxamination hall until the completion of the examination time and
shall record his/her biometric atténdahce without fail before leaving the exam hall, failing which his/
her OMR Answer Sheet will notediluated.

13. Before leaving the Examination ffﬁHp-—Eﬁw candidate should hand over the OMR Answer Sheet to the
Invigilator, failing which Criminak Rydsecution will be initinted as per law besides rejecting the candidate
for this examination. E

14. Candidates are permitted to take gibay the Question Paper Booklet with them after completion of the
examination and it should be preﬂ:t_/;d till the declaration of results. ;
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Which of the following statements related to the 16" Finance Commission is/ are try

it o 4 . ; nv’
A Ttwas constituted in December, 2023 with Arvind Panagariya s it's Chairma
iy 3 mmission.
b ﬁ‘?‘_rj'_‘fnl'““ Tha was appointed as the secrotary of the 16 Finance Com ‘ -
C T S ( y iod of 5 years from April 2025 to
'¢ Tecommendations of the 16 Pinafce &nmmissiﬂn covers a perio ¥

March 2030
Choose the correct
M ABandC
165 @g

answer .
() Aonly . |@ Bonly 4 AandConly
5 Noyirds Sowohod (Boh st |58 /59 ety ?

A o508 Serrdage BYST BRo0b 2003 &8 X BoFrR) DO Sabe0 28A0B.
B. oedd ToeHE 5% 16 5 ggg iﬁOﬁﬁﬁgﬂ‘Iﬁgﬁ@gm fchdpoiitro 2BACH.
¢ o

168 @08 Soxiorh Mirtsien HOS 2025 dion ) 2030 588 110 5 SoSETreH 560,
RO BERErR) doBE Doty

M ABSO®C () Asmgs @) BirES (@)  ABok>CImEH

Government of India started anew Techn ) o ) —
i ' olo Hative’ to strengthen strategic partnership wi
which of the following countries 7 8y Security Initiative’ (TSI) gth i .

(1)  Australia
(3)  The United States L  ragai

Sot >86% O Jdost Trgees wﬁanﬁa:»éafgé%éo D08 gro8 (Bebio £F FoB8E e F6D
(Technology Security Initiative - TSI) B50D3T0 ?

(2) _ The United Kingdom

1) o (), 0su308 8ofitto
(®) w86 38 @y =S

In 2024, the President of India conferred Bharatiagga awards to four famous Indians. Which one of the following
is not a recipient of the same ? S
(1)  Chaudhary Charan Singh v/ ()  AtalBihari Vajpayee »/

,@ M.S. Swaminathan (4)  KarpooriThakur

2024 &° 58 T8 Seorith (Siion arsBesned B8 68 seH Bdo It & Sob 08k S
e =28 56 7

(1) 66 556 Hok @ bS8 Ehon
()  MS. @S WL &6 onb

‘Government of India launched ‘Ideas-4LiFE’ por;cal for inviting ideas related to products and services, which
induce behavioural changes related to : .

(1)  Woman-friendly lifestyles (2) ! Old-age-friendly lifestyles

(3)  Corruption resisting lifestyles M Ii Environment-friendly lifestyles

PO (HehE0 & Bob D BN Srbnoi [551.5%:;:3 6HHODH, DFOKH 500000 wEtSsen 8RQ05E08
‘DBAE-4T5 (IdeasALIFE) 67 6% 2508050 ?

(1) Sobrgosy igess 45530 @) Sy N 45530

(3) o208 dT°E £553D (@) Sosste YrieE dss30
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Which of the followi ing statements are true in relation to the General Elections - 2024 to the Lok Sabha ?
A. The election schedule was announced O 20" February 2024 by the Election Commission of India.

B. The first phase of election was held on 19t April 2024,

¢ The voling in Telangana was held on 134 Mﬁ:g 202§: ;
D. Inthis election, for the first time, vote fronf Home facility was introduced t ™

Choose the correct answer : J
(1) BandC only {"’ﬁ "J'\ CandDonly ¢
() AandB only @) C and D only «p

2024 &85 Dy BE dYEed Sowohod \Bod a‘&%&ﬁe‘ DD ey ?

A grdE e Koo 20 HlHd 2024 o SREe G HEBoDOB.

B 190D 2024 i s Dk dEen esOrroD.

C 133 2004 et Boorrems® &Boh adhod.

D. oS80T & IQEed’ Hirdot zo® 008 &t TR StHrasr EDjoT .
BBS HEPEERrR) DoHERKoE !

(1) BBk Cdmlgad 2) A, CbBasn D Sr@h

(3) A dukn BIHED (4_)_==c Lodcsm D (&

The Indian International Maritime Dispute Rescﬂtﬁz;an Centre (IMDRC) was launched at:

(1) Visakhapatnam (2) Goa — Cochin 4 Porbandar qﬁ
FrEBH ©oSTD BBl Pt BB ?0@5% IIIDRC) 555 [@e8ofosetod :
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Who is the director of a documentary feature ﬁlm‘Tn Kill a Tiger' nominated for Oscar Award - 20247
(1) R.Mahadevan (2) Nikhil Mahajahs -(3)  Kartiki Gonsalve$” (4) ~ Nisha Pahuja

eF)b o) -2024 B N5 Dchobd whHybotd Sosdigo ‘w &5 » BriE’ (ToKill a Tiger) ) LGB
D5 ?
(1) 6 HFB58 (2 DS el @) =bBEKSy (@) D SSow

Which of the following statements is/are true with regard to Jaya Varma Sinha ?
A She was appointed to the post of Chau'perscm and CEO of Railway Board in 2023.

B.  Sheis the first woman Chairperson of Railway :g.y board.

Choose the correct answer E: el
i &
(1)  Neither AnorB (2)==“’ %A only
(3) Bonly (4 ) ) A and B both

a0ir $8) P Bowohod Bob argages® ae}fﬁwa@%}: ?
A 202365 &0 BBy 68 POIGS Sobaks zss?ﬁmé wéém%meaﬂ@s“&m DHWoS0 8OACH.
B Bd S S SoiFntd Hirer 35@535

0% BEPEERER) AoHE R : d
(1) Axobdsw BBokr 5°®) 2) ASPED
(@) BSEED (4)  ABAD BBoE®

X 3 PT.C
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Q\(l) Sheetal Devyi

B Thestate government |

; ; 4
Award, 2023 in badminton ?
Who among, the following was conferred with Major Dhyan Chand Khel Ratna ;

(2)  Ojas Deotale
(3  PV.Sindhy “ C{ﬂrag Chandrashekhar Shetty

& :t;o e3BAch ?
Bol 06" 3508 2035 50i5y08 i ersiot St Hub S 0B BE 8 oG By

H  EsS S () oS B

A new tick-born virus called "Wetland Virus' I1a§ b(!e discovered in: )
(1) Ethiopia () Bhutan (" (g) China (4) Indonesia
‘D88 Vo J8T (Wetland Virus) re Soded o4 E"‘gﬁg—ﬁa@ BT BEE SOOI

1) =8@rdagr () eoerS e B @) =0EfHnck

Consider the Enllowing in relation to the Skill Unwerlﬂ'y in Telangana :

A. Srini Raju has been appointed as the co-chairman of this University. o \ .
1as appointed industrialist Anand Mahindra as the University Chairman.
70(4) A only

Choose the correct answer :

(1) B only (2)  Both A and B (3)‘f Neither A nor B

Boorres® s rRSBES Somoson S0d B HBKRoSHBD

A & comd5BYAR §9 oraeiy $-3Sre Qasoms:,

B oo 58b80 (©son PO EIY 505 odrolso SGSME AeHEoDoB.

S8R DIPPT) DoBHEsy - - o '

(1) Bsmss @  ASBsy Baoﬁfjg,} ASBEn BB &5 (4)  ASHED
ing statements about the Ind; ;—_

A It comprises of an Fastern Corridor connectin India to the Gulf region and a Northe
the Gulf region to Europe. L,

B.  Itwillinclude air routes along with road tfé’mgport routes only. »

Choose the correct answer - “____h:g:——-c—_“‘“‘“‘“

(1) Neither A norB bff)’iifi only

3) Bonly A

(4)~=Both A and B
20805 DS SH-crES ST SOmE (IMEQ)® $020809 808 55D (HERosy |
A =8 ar-‘déc':ﬁavﬁa HS) P08 805

Eri) OB Bk Ky [FPoze) chrtSHis ©odorEio T agy
=286 BOA GB.

B. 28 955 Srred® Jein Ssr:% Care Srtpoh o
205 a0y DOHEHED -

(1)  ABd» BBowr w5 2 Admgd

3) Bawsdh (4); ~A HBas» BBoir

ko

India Jaunched it's National Blockchain Framework known as -
(1)  Paripoorna - Blockchain Technology Stack_':“'E
(2)  Vishvasya - Blockchain Technology Stack "=.-
(3)  Samagra - Blockchain Technology Stack 9
(4)  Agastya - Blockchain Technology Stack

FPESGE0T (Bodosnls mdush 838 (_ﬁpoé_
(1) 5035 - 2538 Doyl 4
2) D% - epE3S Beyed FE
@) Xl - orEBS Bsved FE
4) oS - o538 Beyed

8 DA aoemod,
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Which of the following statements about ‘Blind Eye’ is/are trye ?

A, Itis innovated by a teenager from Telangana,

B. Itis recognised by the imaGen Ventures as one of the remarkable innovations.

G The innovator is the founder of ‘Allien Innovations’, ;
Choose the correct answer :

(M Aonly (2 ”_—Aand B only

(3) A, BandC () A and Conly

8o Tgages® ‘B of '8 Howofod DB/ ep ¥

A B Boors Sobs el oy ::oﬁx’wgﬁ‘%ﬁmam

B.  A2D agraS S0uG) (imaGen Ventures) &%@ﬁﬂ@{sm P SO KBoD0B,
C &2 eIHY ‘VOHS wdFHee’ Eiﬂa’aéxfa (founder)

W0 B3EPENR) QoHE 0w T

1) ASeES (25— A %6050 B Sl
() A BB C (4)  ABdkn CxoeEad

The World Health Organisation (WHO) has approved the use of an“mpox’ vaccine (MVA-BN), for the first time in
September 2024. Which of the following has developed it ?

(1)  Boston Nitric, an US pharmaceutical company

(2)  Bavarian Nordic, a Danish pharmaceutical company
(3)  Belgian NOVO, a Belgian pharmaceutical.company

(49)  Bharat Nuron, an Indian pharmaceutical ﬁpany q

(B0 et Soi (WHO) iyt BIBre DPoDE 2024&’5a 28 ‘D5rEy S (MVA-BN) (mpox vaccine)
eRrBoD0B. & BoB B DB B2 @%3)5 ﬁo&n ?

1) %8 JBS, &8 US FoirdEss sod

(2) 2rbadS S, o wAR PoUYERES gE:E____;

(@)  BYHS S, 2.8 BYoLS FoYrdES ég@rﬁ
558 S, e o FopeBsS souly

i '|I.

1
It

i

1 ,]||

\}/ The capital of which of the following is renamed as ‘Sri Vijaya Puram’ ?

17.
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A1) Lakshadweep Islands (@ Srilanka
(3)  Bali Islands ()  Andaman and Nicobar Islands v”
& 808 B8 B ragrd SKTeR) ‘@ Dacd HBO e HEE Tsno DR ?
(1) ofbE Bgiren 2) @wo¥
@) erd bedren _ (4)__e08EmS £bcsn A% erS Agdeen
Which of the following got the award for Best Da«;&mentary at the 70t National Film Awards for the year 2022,
declared in 2024 ? ;:;_:—_
1)  Murmurs of the Jungle (2= __Aattam
(3) Brahmastra @, §i<antara

808 o&&° 2024 6° [BEBODI 70 erdcd rﬁ&éa@_@;ﬁtﬂmé“ 2022 $0SHTS e aF kR8s ey
odNe b 7

() @R | (4) 'Esmaats

X 5 PT.0
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, ‘Barakah Nuclear Ener
\’\;]‘Ilfh ?nf the fol!nwt'ng countries has completed its first nuclear power plantknown as Bara ucle. gy
Plant’

(1)  Bahrain (2 The United Arab Emirates

(3)  Saudi Arabia 4)  Iran 5 .

808 & B0 ‘womer o motsis 03 1 Besed s By o Dl SoyTorR FrETRb |

(1) ®B§ (2) “EkpBE wid JO88)

lz’ggnr!: of the following is ot a planned outcomg __j the Telangana Global Artificial Intelligence (AI) Summit
(1) Responsible Al / ='==

(2)  Uniting leading minds e g /

(3)  Fostering an Independent ecosystem for inAdvation b d

(4)  Collaboration and Investment gy g

8ob =8S° Boorre Red @ 25 (Al Bapoel BEmSE0 2024 Gof) (Ber@seaids $080 =208 D6 ?

M) =ggerons Gam s (AI)

@) (Sepdrsorer 0pg Dogool oy HBsKo

B) eDg8n 8o ol Soegsises ST [esroto

@) BB B0 HB%n Dtgnd

Which of the following features concerning ArtifieiaHntelligence (A system figured in the resolution adopted in
the UN General Assembly in March 2024 ? =

A Safe B.  Secure S2C  Honest D.  Trustworthy

Choose the correct answer :

(1) A/BandD only W) and B only

(3) A,BandC only (4)=_ Cand D only

DB Fes (Artificial Intelligence) Lo (BaBo-3 2024 SrQE wETrey 520 $Ey 982G $¢ (General
Assembly)-&® s3rsonlS SoS0dt (Bod OETRS® (features) DD &amem ?

A ®5kEo B. #lgo =T Repond D.  SSyuns

HB8 SEPLPTY) DoHE KR :

(1) A, BoBdi D Sr@a (2) AHBSEHBIMSDH

(3) A, Bodas» C i 4  Cobusn D &migdh

Where did the 13% Ministerial Conference of World Trade Organisation (WTO), 2024 take place ?

(1)  AbuDhabi (2)  Riyadh (3)  Amman (4) Doha

(0035 ardesg %0 (World Trade Organisaﬁon}@lasﬁ s0o|ghe ;igoa) 3BS850, 2024 B 2BACE ?

(1) e grd 2) Bcirs =0 CRADIS @) &

A mock drill termed as 'Vishanu Yuddh Abhyasii;—izz conducted at Ajmer in Rajasthan in September 2024. This
was meant for : - =3

(1) _ Pandemic preparedness (2]?—-__ ombating floods

M Cyber war preparedness (4);5___ £ Biological warfare preparedness
30062024 TaEReR oS e il @{ggﬁ o8 2.8 &8 (86% REFOTD. 26 BB Bowolodod :
(1) SSEROD ASByS BokiSs Q)80 deeyse
(3) Rwb ang Sodss () 85 g Soegs

X ;
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Which of the following statements about India Open Shooting Com petitions 2024 held in Goa are correct?
A Manideep Jetta secured two gold medals.

B C Pranathi won one gold and one silver medals.
€ B.Shankar won one gold medal.

D. Arcita Karar earned gold medals in both the 10 m f\ll‘ PH’(OI Junior Women Individual and Team categories.
Choose the correct answer :

(1) AandD only 2 A f!nd B-only

(3 ABandC only @4 ABC and D

80B ymod® Rare® wdA% nolase L8 GrBoh ﬁﬁéw 2024@: Nonofod $BHD DD 7
A D85 B Botd morrth HEseold RO, 1 Ay
B C. 5058 2. porrh HHbasw e Bui HBCOD R 0 "65:.
C  B.<¥0E6 a8 wore® DeseR) NOTD. :

D od)¥ 5205 10 oo dowb HSe® amohb fir

NODoh.
WO STPERD DoHE A
(1) Ak D SrE$ (2) ABcknBErEH
() A, Bodcin CSmlgsd @ ABCH0%D

Dunng the Indian Prime Minister’s visit to Singapore in September 2024, MoUs were signed between two countries
in the following areas : = =

-l
|||

A.  Bio-technology B. Dlglfmechnologles
. Health and medicine D.  Semicenductors v
Choose the correct answer : =

(1) B,CandDonly @ ABE&dD

(3) A ,BandConly Y 4 A and D D only

Whoob 2024 &, gL (HHS ol@ Rordrd ééﬂg&aﬁ& ﬁnﬁom ot Gove D & 80 Borres® elmrd
e.dyorren HHBTEOD :

II“

s
|ﬂ||

A  23rBsmed B. &&bﬁsnaém

C b0 Sobaw B0 D. 2oy

HB08 aaPmRd oS D

(1) B, Cb0m DEr@d @ AB,CH80D )

(3) A,B&0805» Car @ (4) AHBS» DIFED \,
Consider the following statements with regard to Ajay Banga: ‘V{J

A Hebecame the 10" President of the World Bank Group in 2022 for a@e&rs term. i
B. He was conferred Padma Vibhushan award by thé I-"'_"émdent of India in 2021.
Choose the correct answer : }0

IL

(1)  Neither A nor B (2)  AonlyZ
(3) Bonly (4) Both A,%md B

eadh pord Sonofod & Bob el a‘:bm‘aoﬁam—"—:
A et 3058 Berdl M, 2022 6° 5505 eFeD (5% 105 ofgHior dahihodirgd.
B. P58 oot oddD 2021 6° Dty Derid warpad n}é@poﬁ"iﬁ)

R0 2357°E00 DotHE R !

ﬂ My,

.1I llj
|,. ,.a

(1) Addn B Bokr 579 ) Aé:{é%:
(3) BER@D (4)  Abcso BB
X 7 P.T.0.
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26.  Which of the following is not one of the main organs of the United et
() The International Court of Justice
(2)  The International Bank for Reconstruction and Development
(3)  The Economic and Social Council
(4)  The Trusteeship Council s
8ol o5t DEITey BB (B awmaéf‘ggko w0d 26 ?
(1) =obIgssS §*§ 6P s f"—‘é
() BoLBIEHS argol 5 O8GyLES @0k oS0t
@) ETRE wol FS TRYS

@ (RS TR I
g

=

27. C?}‘si d er {'I'IE i‘Oﬂ h‘\'i'l'lg St'aterucnls + Ay
.4 Indian Prime Minister made an official visit to Russia in August 2024.

ns structure ?

B Russian President Vladimir Putin conferred Russia’s highest civilian award, The “Order of Saint Andrew

the Apostle” on Narendra Modi, Prime Minister of India.
Choose the correct answer :
(1)  Neither AnorB (2 _ Aonly
(3) Bonly Both A and B

% 808 TyEseR0 HBKBoHsw
A o 20246 58 7S H0® Sl e wHOY SeE Fath,

B &r88 B0 B0l AraR, 55 oifBto HWE HAS Sy esxRS 6 HEIWo ‘eBs &5 Dowods

VOEr & wSFJSE S&Bowes. - ;=
VB3 2rendd JoHE S -
(1) A8 B Botr =9

HIIIIIIiHl

(3) BIrgD 5”7 AB5n BBor
28.  Match the following countries with their rg%& as per medal tally in the Paris Olympics, 2024 :
A China L . First *
B. TheUS.A. IL Second
C Australia . Third
D. France IV.  Fourth
V. Fifth
Choose the correct answer :

& AIBICV,DI (20  A-V,BdLCHI,D-V
(3)  AALBICIV,D-V )  AJLBIILCI DIV
7508 2.00dE) 2024 6° FHoDS B §

551'?(0 U°§§ E
A B L
B. 0. ). &, II.
C. o IIL.
D. (") V.
, V.

4B a3srenid DOothE S !

() A-BLCV,DI A-IV, B-IL, C1III, D-v

@) AILBLCIV,D-V A-II, B-, C1, DIV

X

ET

5@%@5‘50 8od Gereid B ToH08 adS5S508 |
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29. Whois Narges Mohammadi ?
A.  Sheis an Egyptian human rights lawyer.
B. She was awarded Nobel Peace Prize in 2023.

Choose the correct answer : (M

' 4
(1)  Neither AnorB (2) Aonly -—(’3} B only (4 BothAandB
TR ISt DS ? o

[
4
a
|

A sl 6ata§ S e erdb.
B. oD 202388 BS srob nsuiHd ofolol.
NBON BTrEi JoHE S

b

mli'l ‘I’h-l-

[0 i ls T TR TE R Lt
.|' "
T,

i T
y

.«-'1||

(1) ADOcwBBoErsy (2) ASwEd —(3) B &m(gh (4) A#BdinBBoLrP
30, Arrange the former secretaries - General of the United Nations (UN) in chronological order of their term of office:
A, Kofi Annan B. Ban Ki-moon
C Javier Perez de Cuellar D.  Boutros Boutros-Ghali
Choose the correct answer :
(1) CD,AB MABCD 3 _DBAC 4 B,D,AC
DEsoRay D08 el ';bLéeaE- aESed 0 HED sl O ﬁﬁa@a‘iﬂvm&éoﬁa aasﬁadaém
A EH oo B. &8 ﬁ_ﬁms
C  29aH5 20E & Ergeb D. =l __J:__: (¢PR-500
5B D JODERB ! =
(1) CD,AB @ ABGCD ©®) ;——:_E,:B A,C 4 BDAC
@ Consider the following statements in relation to the B&;g_jf:Bengal Initiative for Multisectoral Technical and
Economic Cooperation (BIMSTEC) :

A The 5t BIMSTEC Summit was held in virtual mode in 2020.
B.  Atthe 5% Summit, the leaders adoEted the BIMSTEC Charter.

Choose the correct answer :

(1)  Neither A nor B (20 Aonly

(3) Bonly (4) BothAandB

oSogtor FPos8E Hbd &'agé Biesro EPUH eaonvg:_awéo 555 (HORE)H Jowofod 8ob Tgmgo
HBrB o : __*

A 55 HDYE sporl 540 2020 Ho5E)Bos® aﬁdn;ﬁﬁ’nﬂ 33655’3“0:‘593&05
B 55 8o SsrEdost DS b eamBoTE "

3B a3 DotHE°aw : :
(1) Adan B B> 5o @) As’m@
(3) BEEED (4) A8 BBokP

X [ 9] P.T.0.
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Consider the fnllnwim: statements in relation to G-7 : /
A Ttisaformal grouping of wealthy western nations.

B It has no pe rmanent secretariat or logal qlnluq
I B

Choose the correct aAnswoer ;

—-r-

(1) Neither A nor B SZIH
(3  Bonly

A only
. Both Aand B

B-7 £ Sowohod [Bod SRS 58”5%01‘53510 7
A BB ?Som')cl éb-sgjéé Seeey EPOSH B
B. 898 s 50meano w0, 88 a’ﬁﬁm aﬂwtﬁ:

RIS TR DoHET Ky | ()
(M ABasH Bos g @ ASHED
(3)  BamEd (4) AddinBBotr

Consider the following statements :

A Prithviis India’s first indigenously developed ballistic missile. ‘/
B. “Prithvi” missile was first tested in 1990

' ted
C  Defence Research and Development Orgamsal:lon (DRDO) developed Prithvi missile under the Integra
Guided Missile Development Programme-" 4

Choose the correct answer:

@) B and Conly @':_ AandBnnly
Eob (BPEedes S6KBoSos =—~=

A Bdabore ed)f Sakols roddan m erORE B35S Ky,
B 19906° “G)f0 858 Jmisd o S8osatob.
C Bges 588555 Hobatw @é)?{)e)& roo‘n’a (DRDO) naﬁ)a%é 8568 @a:’e}% 5065{_633:0 (Bods a’:e)&s 85689 @&)&‘:@%

S2ob.
<lelos m’::v::ﬂ;a'u:@_ D08,
(1) ABo5»CErEd (2% A Bdai»C
(3) Bbain CdrEdH @73 A0 BmED
&
Which of the following is correct from the sma,llest‘to the biggest on the length scale ?
A 1pm B. 1nm ip“' ) Tam~ D. 1fm
Choose the correct answer : E:»:;

() B<D<A<C (2 C<A<B<D T (3) C<D<A<B (4 B<A<D<C
(Bob R, EDG Kook KEY KD Fed ﬁaa::il_gsﬁaoe:sﬂ SBFRE 26 ?

A 1lpm B. 1nm C lam D. 1fm

$BS earenid DoHE S ;

(1.; B<D<A<C @ C<A<B<D 3) C<D<A<B 4) B<A<D<C
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Match the following Vitamins with their common Chemical names :

Vitamins Chemical names
A Vitamin C 1. Folic Acid
B, VitaminM .  Cyanacobalamin
& Vitamin 1 1. Ascorbi¢ Acid
D. Vitamin B;s IV.  Retinol .
V. Biotih
Choose the correct answer : '

7 AL BI,CV, DA L)@ AMILBOLGIv, Dy
@  AJLB-V,CIMLD- )@ AILBY,CI,Dv
80B DLDELR T et BRPAH DY wBDEDHB,

DLDE BRdhs D
A dIC L POE wino
B. QuMSM I $0558%ras
C oS H I @ﬂﬁgpﬂjﬁa &R0
D. 955 By, v, BeSE_:
v =

8% szrad HYSod :
(1) AJLBLCV,D
() A-LBV,CIIDI

A']]Ir B-]Ir C—N, D'V
A-IIL, B-I, C-IL, D-V

The correct statements about UNEP (T__I_MEIT’ - United Nations Environment Programme) are :
A It'sheadquarters is in Nairobi, Kenya. v~
— L
B.  Itworks for finding solutions to the triple planetary crisis. .~
C.  Ithasthe representation @f‘mm 191 member states. fl

-——ee——
&

Choose the correct answer:
(1) A,BandC (2) AandConly
(3¥” AandBonly (4) BandConly

CixREE J5T) Soegtes sntﬁéuésﬁoo Umtéd Nations Environment Programme - UNEP) 8 So@of0d 398G
sapen a8 ? ek -

A B Bers sorgpho B @5‘*@3@5 éob.
B. 28 [B%HS FRwd soFfere oaaavpmﬁa E5sKo B%%0 99 3kod.
C. 698 191:5¢f Bevo Sod m@@ &850 @od.

BB earaniy NOHER KR | )
(1) A,B&Bas»nC ' @ Ak CEnEE®
(3) A8 BSHED (4) BXobdm CHrED

X 11 P.T..
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37.. Consider the lollnwing two statements :’

—7
Assertion A : Rain water has a pH of 7.
—_—
Reason R: CO, present in the atmosphere dissolves in rain water. +*

Choose the correct answer

Both A and R are true but R is not the correct explanation of A.

(2 AistruebutRis false, o

(3)  Both A and R are true and Riis the correct exphnahﬁn of A.
(4  Aisfalse butR js true, N

(8ob BoidH IR BB EBoSod _ “uf
PRI AL 555 58 pH Devs 7 P
SURSOR: Soestnsnstd CO 2 B B’ éﬁ)r{)ézgﬁ

BB mTeni JoSHE gy - sy

(1) ASoBAsw RBoir #3559 0 A G0 56&0% DB6H R 5.

@ AXDSS =0 R 6@ st
() ABas RBotr $359 H6asm A @) H8G0D DBBes R.
1) AXZE8 st =0 Rigpse.

38. ‘y type of energy is stored in a rechargeable battery such as Li-ion battery ?

Electrical @  Mechanical f (3j=1(:heuuca1 (4  Nuclear
Li-odirS anged Soff H800@mHS8550S g8’ § %—zﬁgam 48 DexPahareod ?
DisgE 2) oy 3): S5 4)  SmBaob
39.  Dr. Verghese Kurien is known as the architect of: | 1@1

(I)  White Revolution i
(2)  Yellow Revolution _:*—J_
(3)  Blue and Gold Revolution ;::j}_

(4)  Pink Revolution :

& (Bob BE, oo 5T $BaHS 08 SreDyT BRG o ?
(1)  ZE D550 (White Revolution)

(2) Bz 50 (Yellow Revolution)

()  dvo B @O DgiSo (Blue and Gold Remhﬂaon)

4  e=d 9550 (Pink Revolution) i
4y
40.  Which vitamin deficiency causes Pellagra ? :‘;E
4()!» Vitamin B, 2) ‘\;il;gni]?n D
()  Niacin (Vitamin B,) 4)  Vitaiilin A
D DS &0 S e (Pellagra) 56 Seordid ? &
(1) D&DS B 2 ’L; D
() DArRS (eS0T By) 4 DoSA

X 12
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41, Arange the following in the correct order of energy flow in the hiosphere :

A Herbivores ‘ [IX T"mﬂw producers

C Detritus n. Carnivoreg

E Sun | ( ( “y = EJ

Choose the correct answer b4

M BACDE () ABCDE ) E.B,D,A,C W/E,BADC
\Bol RN, drstnos® KOS HOES ¥§ @.3‘ B Bagt vsngyod, o
A ==8%es (Herbivores) B. Lﬁ“lﬁhé SEBLren (Primary producers)

C  BBLS (Detritus) . %”T”}’?"“’EM (Carnivores)

E RPlR (Sun)
WOS HErErRRR) dEnEtol i
1 BACDE @ ABCDE ' @) EBDAC 4) EBAD,C

i .
(4.

42.  Which of the following statements about Bt-Cotton are correct ?
A Ttisa transgenic insect resistance crop. -~
B.  Ttwasdeveloped against Bollworm pest.
C  Ttwasdeveloped by Monsanto (USA) and Mahyco (India) for commercialization in India. ‘-/
D After numerous studies on Bt-cotton the final approval for commercialization was granted in 2002
Choose the correct answer :
(1) AandDonly
(3) A,BandConly -
Bt-58% 020500 (Bod Fgped® 2 ﬁ&c‘ﬂazﬁhﬂ

-I—.r._;

A,B,CandD

A =B el adpsee)d 8o 957 Sow. ;~
B. =& &°6zrE) (Bollworm) 8roeoth a’zg,@'crt-gbm @E)Eﬁ;,& Schodod.
C 585806 sdéEtn 850 A F=SEats (USA) 50050 28 (India) o85)§ 3.
D. Bt-58 Hi o8 wigchvre SHTE 200%35 TBdgESnd Hb sarto ofodod.
$BR eTraoid Dot R !
(1) Aobaim D SrEd @) ASB®BIRSEDH
() A,BHbd5n CEmgad V(A)/d A,B,C%8cm D
43.  The correct set of the primary air pollutantsis:

A Carbon Monoxide (CO) B.  Sulphur dioxide (SO,)

9 ¢ Nitrogen (Ny) D._ Particulate Matter (PM)

¢ Choose the correct answer : E‘iﬁ*ﬁ
(1) AandDonly \,(23)_{: A, Band D only
(3) B,CandDonly @71 CandDonly
(Betgang aramn SPegEdEre @) OGS SEbak
A =65 3B (CO) B %e)6 2o (SO
C  BE=S (N bl) Sex soego (Particulate Matter) (PM)
505 ePEn DOSE B ; (LI L

/@ A 9B a5 D Sm(ga ®) A, Bban D SwEd ﬂg‘u
() B, C500so DSnd (4) Cbcsn DErEH

ET X 13 P.T.0.
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. i ibutions ?
In which of the fnllowing fields Padma Vibhushan Prof, C.R. Rao is known for his researchconizibutions

A, Mathematics B. Statistics
/ Chemistry . D.  Materials Science

Choose the correct answer : . -_: )

(1) A,Band Donly (2) AandB on}}i_

(3 CandDonly (4)  A,BandConly

6 808 B b Sormes® 15t D @ &b, o 85 SOFGSO T EHY Tow ?

A Hzﬁé‘aﬂ@o B, Hwnoéi’“@ﬁj_:

L 53“@5@@0 D. &% evgo r(j\-f_fateriais Science)

I N T L

(1) A BB D s (@)  ABoin Baegd

()  CoBuws D @ A, BSoBcin CimEa

Give the chronological order of the following events in Indian Science Journey :
A. Launch of Rohini-| Satellite,

B.  Pokhran-II test.

C  Establishment of Indjan Space Research Organization.
D.  Establishment of Bhabha Atomic Research Centre.

(s

Choose the correct answer : €53

(1 ABCD @  ACGCBD 3 D GAB 4 CDAB
78D DY) Boros® & (808 Kogomses, SosrHE0 siol.

A Brd-I1eSES Saro B 5

B. eeSIs8y

C  5r080D eosg $68%%S Ko 5%

D.  arer e 56855 Soo doeyexn £33

KB BT Doy | B

(1) A,BCD @ AGBD 3) D,CAB \_,(4/ C,D,AB

In the “Intensity-hue-saturation color coordinate system”, used in remote sensing applications, what does
saturation represent ?

(1)  Purity of a color (2)  Brightness of a color

(3)  Wavelength of a color (4)  Frequency of acolor

~0Ei (557230 (remote sensing) wHSGTeSt a5@RACH aoﬁ&)jgf_ﬁwg-ﬁvﬁﬁﬁ %0b S'e33S dijo (Intensity-

hue-saturation color coordinate system) &* SodHs 3 éﬁﬂ:‘ég&&; ?
(1) Borb @) 5y (Purity) (2)  Goth A BSFo (Brightness)
()  Gord @ns) 880138 so (Wavelength) (4)  Sord @) F3:39%50 (Frequency)

1 nllrJ

The Microorganism that performs the natural photosynthesis Jsl___;

(1), Fungi (2)  Protozoa —1_'_—-
) Cyanobacteria (4 Virus == ‘
i Bt Sodeld b S T
(1)  8dolgren (Fungi) @ @& (Protozoa)
3 25%r86air (Cyanobacteria) (4 35 (Virus)

x 14
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; iqui i dense ?
Atwhat temperature liquid wateris more dense

1 3°C @ 0°C @) 100°C @ 4°C
D SRS B8 (55D ey Frolgse BON aotood 20 {7
1) 3°C @ 0°C ('32? 1" 100°c @ &C
Match the types of lakes with their characteristics : rﬂ;‘le
Lake type Charactenshcﬁr
A.  Dystrophic L Moderate nu t‘jgﬂ}? , can support biological activities
B.  Oligotrophic I,  Fullof nutrieqfii’;n_ter is murky and unhealthy
e Mesotmph'm/ m.  Also known agshumic lakes, full of humic and organic substances
D.  Eutrophic Iv. Very low ornonutrient, water is healthy

Choose the correct answer

(1)  AJILBIV,CA,DI @ AJLBI,CIIDIV
@ ALBILCIV,DIO 4 AJLBIV,CIDI
e SoroH T8 ofrod® a0,
o G50 ogere i}
A &@:&E (Dystrophic) L &éﬁ:ﬂﬁs"w &% Yonol sigerarol 8 omeom
B &9ORS*®E (Oligotrophic) IL. @uaaﬁag‘ 5% SpBBMP HOGD BT IEERIL
C  oRRSRs m SRS _glﬂmc) £Bc%o DodskH Hrrpes® Wb, Sroegin
Sodn SF LE D
D. oS5 V. @rer éga’j;&;émﬂ Phseen B, b e.aﬁ*ﬁgééo
595 Brordo AHYSOB ¢ »
(1)  AJILBIV,CIL, DI @  AJLBILCILDIV
(3) AJLBILCIV,DII (4  AJILBIV,CLDA
Arrange the major earthquake disasters in India after 1990 in the chronological order :
(1)  Kashmir, Gujarat, Latur (2)  Kashmir, Latur, Gujarat
(3)  Gujarat, Kashmir, Latur (4  Latur, Gujarat, Kashmir
1990 So%é arBEE 806" HogDoDS LS 80D aéaﬁwm SeESrirdo ook,
(1) =8P, e, erErd @) sn@g epirB, Huoed
@) Heces, o4, erdrd (4) :;8 Koeoe8, 45
F t_. Lr
Which of the following chemical(s) has(have) the long.est Ahnosphenc Lifetime ?
(1)  Methylchloroform (2) €hlemﬂu0roca1‘b0ns
(3) Halons M%fﬂuorocarbons

Bod BIPc5id0 (BRraharen) 89S PErdtes é.g)éﬂe}c} (Atmospheric Lifetime) 80/ sotnobfaotron 1
1 ogd &'6°3r0 (Methyl chloroform)  (2) Qﬁ‘@iﬁs?tﬁﬁg (Chlorofluorocarbons)
(3) &Per]) (Halons) @) HEFGR) (Perfluorocarbons)

X P
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Chlorofluorocarbons (CFCs) used in the manufacty ring of aerosol sprays are :

A, non-toxic o B.  non-flammable °

4 non-reactive v/ D. water soluble

The correct answer is : - i

(1 Aand D only {f- fz) A, Band Donly

3) ABandC only t _(4) A,B,CandD

DERAS (o Sairbe® as@mrnod Seigsten,

A DEEEIHD on-toxic MBJ 06809 (non-flammable)
C  Bdrdos 809 (non-reactive) D BAE K5O (water soluble)
W8N MErEESo i ;)(.h
M A8 DsmsDH (1  ABSO»DEmSHY !
) A BB C s 4 A,B,CsBcmD

Identify the cotrect statementy(s) :

A. Richter scale does not measure the energy released by earthquake. . {
B. According to modified Merecalli scale, an earthquake with intensity scale V is considered to be extreme with

Severe structural damages,
The correct answer is :
(1) Neither Anor B (2) _, Aonly
() Bonly 1@)” Both A and B

=

Bob Tgeapes® Q83 TS50 1DBoEOA
o
A gr¥oso oo bisedhs 489 BEE TS Beistn.
B. 500038 b Hev (modified MercalliScale) ($e~to, HS8 V, VoYt SH08° Sr8% SSPS goesosorr

B

SOHBoSDHE0s, 3%

"y "

2

2B Ddrrro i’—‘—;

(1) A®BaBBotr =5, D) ASHED

3) Birgd Tl A8 BB

The Biological Oxygen Demand (BOD) value in ppm of pure water and highly polluted water respectively are:
(1) 17 and higher than 17 less than 5 and higher than 17

(3)  higher than 17 and less than 5 (4 2and5

B D& O es0od S0l A8 £ ©81aS Airof (BOD) Densden ppm & Sk

(1) 17 5080w 17 So8 &y Q) 5508 855 Hbckn 17 ol DENH

(B) 17 808 dEps Sobckw 5 8ol S5 (1)  250a5

The Convention on Biological Diversity (Cﬁﬂfw@as first opened for the collection of signature during :
(1)  United Nations Security Council Sessionz1990

(2)  United Nations Conference on Human_lﬁ_gvirpnment, 1972 i

(3)  United Nations Conference on Envirgx_;_gn?nt and Development, 1992

(4)  United Nations Conference on Sustaquiye Development, 2002

B[O Hikoaydo (Convention on Biologicalt?l?:grsity, CBD) 5758 K08 5instes D%t Fotso [Sv60DosprSa 7
(1) o388 J4T) gltser Dotd DES, 1990

() SPSS SomStmcp ANBBE 34T SHP), 1972

(B) HogSbeo HBA™ @&)?ﬁg}@?ﬂ aIBE TG S°K\BS), 1992

(4) DS 0B apBE JES) S7K)BT), 2002

X 16

C} Scanned with OKEN Scanner



Gh

57.

ET

Which of the following are greenhouse gases ?

A Carbon dioxide B. N"r(]ﬂ‘\n
Owygen D, Nitrous oxide
" (hoose the correct answer Yy
n  BandC () AandB 3 ;C)hnd D 4 AandD
2ol B8E° 0D ASTS (greenhouse) Srainded ! —tn
A SHS ReRs B B
C  ©§mS D. ﬁ@ﬁﬁ,ﬁ)ﬁ
3¥0% RTPEDRD DOHETRDRD L ]
(1) BdaEmCY () AHdA»B MO EHoumD (4)  ABSD

Consider the following Seas surrounding the Russia and &tfafige them in sequential order from Prime Meridian
to eastward direction :

A BeringSea B.  BarentsSea C.  LaptevSea 0. KafiSa
Choose the correct answer :
hy ABD.C @ BDGA ® GDBA @ DBCA

S Do Doy ) Bob SEnEreid $BrKBoD 0dw T (B WBEKDS (Prime Meridian) $008 &r6y) BF
HE SHHEDS” el :
A BDOoh Hmo B.  erBotl Sswlo 24 :E%S DSigso D. s Sgo

3% marai JOHETROED | =

(1) A.BDC () BDCA 3) =GD,BA 4 D,BCA
Arrange the following states in descending order in term%o?‘j%mducﬁon of Jowar in India (2020-21):
A Karnataka B.  Maharashtra C. | Tamil Nadu D.  Rajasthan
Choose the correct answer: -ff

(1) ABCD @ ACBD £BAD,C @4 B,CAD

e UEDECt &S 668 (2020-21) Sorr Sob Tlaroioestiieen (Eos® etod :

A Eoml B. &g C  SEwdH D. a3l

$BE warenidd JotHE E :

(1) ABCD 2 ACBD (3) BADC 4 BCAD
Which of the following country does not have the boundary with lake Tanganyika ?

(1) Rwanda (2 Zambiavw—"

(3)  Democratic Republic of Congo 4) Tﬂ“f?j__li%

8ok b6 O et Lromis SE8° K0y Btk 7 =7

(1) o=oee (Rwanda) ) woé};ﬁn

() TaErESE 6oEE «f svoft @) ooy 'S

Norwesters are dreaded evening local thunderstorms vifh;c_,l; occur during hot summers are locally called in
Assam as , L

(1)  Purbaiya .(25/ Kalbaishaki (3) L doisila 4) Loo
TBRG ©Rd (Frobaborr B Frabosreres® 2‘.35“)&@.:&‘20& EaHoKETS atined® Er8S ™d .
@robichorr HBD @5:3065 R BHeoRredd ? L

(1) 8w 2) =Opxs (3) e Tonder 4 o

X P.T.O.
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‘-nhnn}a Range in T elangana traverses Ihmuﬂh which erstwhile district of Telangana ?
(4) Adilabad

d” Warangal (2) Khammam (3) Karimnagar
BoorrnGty NEmer (B8 Boomeesd 5 B dew Home Dthéod ?
(1 Stors 2 wdyo @) 86osib (@) Berard
Which of the f ollowing statements about the eaifh’s atmosphere are correct ?
A The air temperature at the tropopausé is more at the poles than at the equator. o
B The coldest temperature anywhere in the 5tmmphere occurs in the exosphere.

C The temperature in the thermosphere t’:ﬁﬁ'reach more than 1000°C. b

2 Inthestratosphere, the temperature fitst decreases with height and then there is sharp rise in temperature
upto stratopause. £33

Choose the correct answer -

(Y AandD only (2) Aand Conly
A9 BandD only (4)  Band Conly

£ TTBER8 Bomohod & Bod TS’ DD $BGSD ?
A (O eSmsm 5 O G SETS, g ot G S8 are SE ISP Hotnosd.
B Todtnod” 55 o S SPIED 5% ebesn So Hotron.

Iy

C 55 sBtnsnd®, adfirdes 1000°C 08 DS Hotran.

D. (28 sStmsnd, snothmr a@;@«:@segs—‘%é; B0l &), Soxg grbm BHERO.
$B8 2mra0d DoHE RS | B

(1) ABcs DSrsdH " A 085 C Sm(g3h

(3) BBA D S ‘lz} B 550805 C sioe{gfab

Arrange the following set of districts of Telangana in descending order in terms of percentage of total cultivators
to total workers as per 2011 census.

(1)  Nagar Kurnool, Kumuram Bheem, Vikarabad, Adilabad
(2)  Vikarabad, Adilabad, Kumuram Bheem,Nagar Kurnool
(3)  Kumuram Bheem, Nagar Kurnool, Vikarabad, Adilabad
(4)  Adilabad, Vikarabad, Kumuram Bheém; Nagar Kurnool

2011 exrgr BEL (Heebo, & (Bod annﬁj&?‘?qw a0, dndo BHeE® Ando JHoete TEo T
©56%re Eo6® el i '
(1) =nb Edmd, Hiimto 5%, asﬁmmvﬁ,’éjé%mvﬁ

]

@) Deroeerd, eberard, HEnto &53! mﬁ:sfd’ag

(B) Hindo HD, T8 BtmS, Derorers, wberers
@) ©owrers, dsoerh, Hisnto H, TS SEmE

X 18
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Match the following Ramsar Wetlands with their respectiye statos
Ramsar Wetlands State

A Nanjarayan Bird Sanctuary = Karnataka

B NaktiBird Sanctuary '{‘,_ﬂg'_-f Madhya Pradesh

C Tawa Reservoir J_]I_f Bihar

D.  Ankasamudra Bird Conservation Reserve J}" Tamil Nadu

Choose the correct answer : __j

(1)  AJV,BAT,C-TL DA @ AL BALCa, DOy

(3)  A-,B-ILCV,D-Il 4) (ALY, BILCI, D

& Bob TosE D88 ook o @) TEped’ wEddhot.

woish D88 Se oo

A SomBairs Hf edfairdngo L étgtbé

B. & 5§ egcirtago 0L g HaE

C = werdabo I O

D woSsng B8 o8 Buby W s

R 4

(1) AJV,BILCIL DI @ Fab 1, B-II, C-III, D-IV

@) ALBILCIV,DI @) .:ELV;B -II,C1, DI

According to National Family Health Survey-5 (29’}?’21), which of the following state has higher under-five
mortality rate than India’s under-five mortality rate? _—

a‘(}i Manipur (2) Meghalaya (3) Tripuré (4)  Assam

ebch Sevon 6By $05-5 (2019-21) (Heedo, & (Bod m@eéﬁ 2 Tgo, Bk Hoere T (2D aoa’ae'.égmen
&% Hpost) Sam dENS SHere TeoH (mda Bosdres® boos®) L0A HHB.

(1)  Sd56 @ e @) 895 @ o¥p i
Consider the following locations : {33

A Eilat/Elat B.  Haifa £5T TelAviv D.  Ashgelon

Arrange the given locations from North to South d;i: _:gzm and choose the correct order:

(1 BCD,A @ ABDC i@ ADCB @ CBAD

Bod =& G FREnein Hordosod. f
A wertS/zed B. 33 :c; 85 ©dS D. eerS
BRDENH0EH Eg.‘éaﬁ:owﬁa 6E5:0 oD KfmEnss wif) SO (B, NOHEKow.
(1) BCDA ) A,B,D,C 3) ADGCB 4 CBAD

F
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L omzader the following statements -
A Belarus shares Imnmlary with five countries,

R Kiev is the closest neighbour capital to Belarus in torms of distance.
( Minsk, the capital of Belarus is located on the banks of Pripetriver.
D The Belarus - Ukraine border is located in Polesian [L.owland.
Which of the given statements are correct ? F

(M AandDonly (2) .f\:B and C only

(3)  Band D only (4)  B,CandDonly

(Bol e B0KRoSOA, :
A Bersh 3Eko &5 RO 0t Best HotH%binod.

B &rBo S8ore, BersSK, 45 orerw 80506 Brtsit TPl SO,
C  Berdh ooetrd mondinsSod W8T, B 55-_&'_&:5055 HQB.

D BeSS - aBawS $08vty Sbaans Sty Brogos® HRO.

B ﬁq&;ﬂgﬁé‘s NBRD 180S0l T

M) ASBSH D S @ A BB CrE
@) BBy DSmE (4)  B,C%B050 DErEd
Consider the following pairs :
Geographical Indications (GI) States
A Chunar Glaze Pottery - Bihar
B. Sikki Grass Craft - Assam
C Bidriware - Karnataka
D.  ChanderiSarees - Madl%gﬁra deshv’
Which of the above given pairs are correc tly matched %=
(1)  B,CandD only (2) —Aand Conly™\
(3 CandDonly (4 _ZBandConly®
808 mdoid S8MBoH3w ; L
T SrO%en (GI) P&
A 56 BS b - b s
B. &R =] - oFE { :
C 5536 - Sontef—
D. 3086 ¥65 - g6
23 TBS° O BOrP assSpbaron ?
B, C 5580 D &S5 (@)  ABakn Cimga
C o050 D Sr(&5ed (4) A B0 CimgHh

Consider the following statements with reference t§ tiescope of Sri Rama Sagar Project Stage -1 :

.

A, Excavation and Lining of Kakatiya Main Cm;_;éﬁom 284 km to 346 km.
B.  Formation of Mylaram and Bayyanna Vagu B;ﬂéncing Reservoirs.
Choose the correct answer : TeE

(1)  Neither AnorB (2) . £Agnly

() Bonly f/ “Both Aand B

Goos 6 (Fresf - 11D 58 $668 Howofodd BoaB5uSeD S8KHB0S0R ;

A 58805 [HErs srend B¥gEo Mbakn 8oF, 2848.20. 5008 346 8.5, 55%.
B. erto 5Bdb adhys) 0 eagBYoR Baoiegbbes domin Sdbio.

$0R a3arandd DoHEPHIE : ®

(1) Abcin BBowr 5% @  Adrgd

©) B &g 4 AHd» BBotr

X 20
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Which of the following statements about river Yamuna a0 correct ?

A Yamuna has its source in the Yamunotri glacier, on (he
Vli" Yamuna is joined by the Chambal, the Son, the Betwa

C The Hindan, the Rind, the Sengar and the V'\run

castern slopes of Bandarpunch range.
and the Ken on its right bank.
ajoin Yamuna on its left bank. —

D, Yamuna river carlier, had westward flow but Iat(il itavulsed castwar dm tcourse and joined river
Ganga. WA

Choose the correct answer: ;

(1)  AandDonly (2) t amcl B onl

(3) BandConly @4 'C ahd D only

& Bod Tmee® abdwar $08 vowohod 59 :SB@;:S:J 9

A cbsom SO G g 0, D08 FM K mesest ahsntie s KB HB.
SHso 96 B S80S, r‘,Scaaeﬁ‘ %8 %obaw 53&395 oo Lendron.

B.
C chsom 58 i Bodt, troweS, Bo&, RoME BBy St SHes Benpom,
D chsom S0 Swdd Heyhore [§5irod, SHTE S (Saria SrED s [Gors, Horrsbe®

Koo
RO 2 TPEDRD D0HE W :

(1)  Ada D &mEd () ASBELBIMSDH

@) BXSdin CHrEd ) C&basm D g

Which of the following tribes do not belong to the H'u_x_l_q_lay an Region of India ?

(1)  Tharu (2) Apatani 43)< Chang (4) Bhuiya 3

Bob =6 FrEEdEos™ trfirach (Fromls amf;gﬁﬁ 26 ?

@ T @NEFD 3).: woh (4  ghrondie
72.  Consider the following two statements as per the TeFlangana Socio-Economic Outlook-2023 :
Assertion A: The Gross Sown Area (GSA) has laean Aremendously increased after the formation of Telangana
State from 131 lakh acres in 201515'15 1o 198 lakh acres in 2021-22.
ReasonR: This increase in Area is malnly due to the planned investments in new irrigation projects,

ET

revitalisation of existing u‘rlgatmﬁ systems and systematic procurement mechanisms
implemented by the Government. ’

Choose the correct answer :
(1)  Both A and R are true but R is not the correct explanation of A.
(2)  AistruebutRis false. "
Both A and R are true and R is the correct explanation of A.
(4) AisfalsebutRis true.

Boorre ariras-eds £6eE-2023 (B0 Bob (HEesed $6Kdosod :

NHESn A Boorrs thgo AGES Shard 2014~15Lﬁ5"13'1 oo JEteed &F) Jobe Spw (D&I) 33560 2021-22
THE 198 0o HSore grbre oaaﬂof'tr £y
=bmo R:  DhBod® & Hkrbie ([Sersore B8 A ,-:anéacse: FEges® @aau@sueagm igetoe, aBE &)

N Fhbo SSge Stotste éaacsinﬁ@é@éso e TS (EHaED 4560 Dgrare SPBER0T™
2:0A0E. s

005 Baranid JoHE RS ;

(1) ASBa RToEr deso 09 R wd A Gooty ;'aécms DB T,
(2) Ad=zosOR &dy. l.-,_,

(3) ABcd» RBor dazo $5H8csn R &6 A Gn) SO NS,
@  A85p =D RJeo.

X 21 P.T.0.
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Agatti and Bangaram Islands belong to :
(1) Maldives (2)  North Andaman @ South Andaman ‘M{’ Lakshadweep

®i§ SoBdiv worrdo 555"% H28 30059

FORE 2 Y (2) B85 wosrS {f,w s wotsrS (4 o5
Consider the following locations of iron ore mines in [ﬂﬁ.a :
A.  Bailadila B.  Ratnagiri C.. Kendujhar D. Ballari

Which of the following is the correct art angement of ﬂ_ &dbove given locations of iron ore mines from east to west
direction ? .

(1) CBAD C,AD,B 33 A,C,B,D 4 ACDB

TESDHOS & BoB SLBEHS Ko e aaﬁt‘soﬁo&

A Poler B.  8#n6 &) sowtys D. a0

25 B BN gD Ke Lo &) dod BEBs B w08’ & Bob & emra BBI6 ?

(1) CB,AD. () CAD,B @ ACBD @ ACD,B

Consider the following hills of North-east India,

A Miri hills B.  Mishmi hills C.  Dafla hills D.  Abor hills

Which of the following is the correct order of the above given hills from North to South ?

(1) B,D,AC (2 GCB,AD 3 ABCD 4 B,AD,C

&5 508 BI06™ (808 Fodeih H6KBoS0R,

A B Soden B. 0%y Soten & i Foten D. o5 Foen

8o B ago Kol Bk B 23 DO Fﬁé_&ﬁwéé %0 (B0 28 ?

() B,D,AC @ CBAD @;, A,B,C,D 4 BADC
which among the following erstwhile districts of : J%Iangana, apartof N aliamaj ange is located ?

Khammam (2)  Karimnagar :@_) Adilabad Mahbubnagar
S0 Bro6®D o srro Beomes Tgost & i_&ca& O oy Repdt @od ?
1) sy (2 8osr5 B wbowrs @) Sodrarssinb

Consider the following statements :
A The Ahmedabad session of Indian National Eongmss (1921) withdrew its stand on Non-Cooperation

Movement.
B.  Gandhiji wanted to start civil disobedience movement in Bardoli:
C  Gandhiji wrote to the Viceroy to release the political prisonersa,”
u( D.  The Ahmedabad session of Indian National Congress (1921) authorised Motilal Nehru to take appropriate

decision on civil disobedience movement.

Choose the correct statements :
(1) B,CandD only (@) AandDonly
(3) BandConly . (4) -‘"&Tﬁ and C only

(Bob (S8 SbrBosos

A b8 edah sofih wimers SErddo (@1) & SHFBATEEELH0D &5 ©HDasr (stand)
SBB0FBODEB.

B. &b rrobd Tteosmhdiuso @véoaomc:.‘i”nénagcﬁ

C u-aasécﬁ:- Bbod dtotse SaHd robd Z@e Thé:cman{ia

D. o8 erbad 5ol edymrers Ssrddo {192’1]:%5 amssgoqnussdéaﬁao‘a $D% Ao 8583 w0
Trderd I adob. {8

805 (BELZOB JoHE s : T
(1) B, CBcin Db (2 A8y D smiesd
(3) BB CamEd @ A B0 CSwigd

X | 22
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Match the following :

A Ananda Mohan Bose

p.  Viraraghavachari

= K.T.Telang --

p. Dadabhai Naoroji V.
Choose the correct answer :

(1) ALBILCIL DIV '

(@) AJLBAV,CL, DI

% (B0b T &ie‘ja’)&)éﬁ:ém?

A wdol IS 6% L
B DScgoSerd I
c &.& 8woh I
D, oTomrgron IO V.

;5:9_:5 p3TPERD DOTHE R
1) A-L B0, C-II, D-IV
@ AILBIV,CLD-

The Age of Consent Bill’ in 1891 sought to push the age“f ‘ir consummation of marriage for wo
10to 12 '

() 10to15 )

Sk Domred §°008 ?
(1) 1008 15 @

Consider the following statements :
A Chandrashekar Azad died on 25t February 1932 inan enco

Sen was assocmte_d with the revolutionary mov

Surya
Choose the correct answer :
(1)  Neither A nor B
)  Bonly
Bod (HBFESOR $HBiiBoSol

A 25880, 19325 wosfa B S5 P’ @«Q@o e

B. Howrd 3){;5“&5530@* #0e8 %8 Bowotjo EON" ﬁm‘g_

$B% exaraoid DOHE 0D
(1) ABS» BOOLP 5
(3) B&mED

10 Hood 12

East India Association

Indian Association

3 Mﬂdrﬂﬂ Mﬂl‘li{jaﬂﬂ Sabha

Bombay Pres fde%&y'}\ssoeiaﬁon

@ LI ML, I, DAV

AL B, G-IV, D1 oot

()
éaé Boldir afiHanS

50B0HS oNBHAMRS
Solgedo HodFPesS Def
g0l RV oVFRGLHS

(2) ﬁg m}n CIL, D-IV
(4) A*IQ__B_IH, CIV,DI

=

f fa-;a 10t0 13

atiaeeE
5

-
F R

(3" 1008 13

WJ/A; y
(@) é !

AandB

]

Lt

L.'IF b
@) A S SD
@) A% BOOEF

X

men from :

(4) 10to14

598 Sai) ey’ (The Age of Consent Bill) 1891 eﬂfp Darde BOLREES SR D08 Sy Hod Do

@ 100l 14

unter with police ina public park at Allahabad.

ement in Punjab.

Soseeps’ Solts8ab werh SADETD.

23 P.T.C
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i i in chronological order.
Arrange the following events concerning Indian National Movementin |

A Khilafat Movement
B. Resolution to fight for Purna Swaraj e .
& Lucknow Pact between Indian National Congress (INC?_'EE‘!__% the Muslim League \
D.  The Communal Award d
Choose the correct answer : ';I'j‘ ' M BD
(1 D,CBA @ ABCD @ BARL C,A,B,
G55 ABOBHEERO8 Fomofod (Bl Hogobied: HEHUE0LE GHEED. |
B. 38 Sgoreyo SO Dfortierds Eatrg:ﬁo {;r"}
C  grud erbash SoPS ©ASR) B0 Swfo DR Sy ©EN E0Bo
D. E3sS exef )
HES poranid JoHE D
(1) D,CB,A ) A,B,C,D @ BADC 4 C,ABD |
“Ramakrishna and Vivekananda are two aspects of the same life, two forms of one truth. Ramakrishna was the
conceptand Vivekananda appears as the explanations.” Who made this remark ?
(1) R.C Majumdar v@f Rabindranath Tagore
()  Dr.S. Radhakrishnan (4) RamdharfSimgh Dinkar
TEOE)R Bty DB 28 ADED8 TobiS Botd WO EEE Jerdd Botdh Sraren. ToHEE of griSd.
DI 2.8 DB EDRRLD.” S Tgpgen ToBSD PE
(1) RC SoerSmb 2 ShogETRE
@) =nS.oTEHS (@) oHged JAHIEE
When Gandhiji was marching to Dandi during Civil Disobediefg’r_e%ﬁlovement who led this march on the Malabar
Coast ? £e}
(1) , V.Gopala Krishnayya (2) C. Rajagopalachari
K. Kelappan (4)  P.Krishna Pillai
TS QoY Gti $Hoos® modd Bold JBainE IvHp, Hewb Bos® B aiFEED IS TrahEE0
Seror 7
() V.Fdro gy 2  Coaffaroms
() Keof)w @ P53 OB)
Identify the wrong pair :
Tribe : Folk Dances £ 3
Sy
(1)  Gujjar-Bakerwals - Mangho R
) Bodo - Bagurumba -
(3 Gond - GaddiNati 3
(4)  Santhal - Budigali L T—_a%
BOTPR 8D HBoUWHD : =
Noesis aif EPSBY Ky 1§
(1) gb-esbaresen - SroR® {_i‘g
@ & - erhdon R
(3) Afots - K& o8
(4) Homrd - enlif®
X =1
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Consider the following statements :

A Kutuhala wrote ‘Lilavati’ in Sanskrit.

B, It describes the marriage of Hala with Saka princess,
which of the given statement(s) is/ are correct ?

-

) Neither A nor B (2) , Aonly { 3

@ Bonly @7 Both Aungp

& (80D TaELND BONBOI | -t -
e

v

A e Koty Bt Derse’ D BT, o
B BSOS Sesd Gok) ey 45 CHSFOS mBAKLy D3B0snA0

D TS’ AB/RD FPHAQ) ? Te
(1) A0aBBoEr =% @  ASEESH
(3) BEHED @) ABBIHE ot

Which among the following statements are correct with regard to the Muharram celebrations during the Qutub

Shahi period ?
_Ac  Muharram celebrations were intertwined with the grand Langar pr.ocession.

% Langar means a golden chain manufactured equal to the weight of an elephant. ‘r”

Alam is placed in a building of Dabirpura.

D.  The golden chain is broken into pieces and distributed among the poor during Muharram. *7°

Choose the correct answer :

F o=

1) B,CandD @ AandB?
@ BandD @) A BandD

S por swomed IndrPo e domoiod TV (SEESo% HOKBoHED.

s

Toeo Stosen ©orb e&dNoHE® LoabhEH000E5D.

A
B.
C  soo SDBHBESED el §555ns® eosalol.
D.

=

ToiFo Btose KotgyorT & worrE Mesi fnHE BR Do JoIT.

sty

3B earenid EXofTRosm Y
(1) B,C&8c»D 2 AHbSHB
() B&BEWD - a7 A, B&0aWD

Consider the following statements with regard to Mecca Masjid in Hyderabad :
A Theconstruction of mosque commen.cgd in the year 1614 CE; ‘t

B.  The constructionof the mosque was initiate
C  Itwascompleted by Abul Hasan Qutub Shah in the year 1685 CE. ¥

F S
Choose the correct answer :

B

() AandConly () AandBonly

(3 BandConly (4 Aonly -
roranttost) o, St Bom0BoD & (808 @@aﬁ:}?ﬁ?aﬁmﬁo&.
A bt dooeo 1614 CE & (BrBogfnomod. ;L;‘*-é,

B Dol ©er &d ar Ho5Hesd e plele @50&]05;&1 } i’=

C  wmb 0§ bid 2 B 1685 CES® &rd TS :fi;:

W3 SiteraR) ERofPRoED : L

(1)  ABoko Csme@ad @) ABCTBErED

B) BB C Sooiehad 4 A Lol $aDd

X

d by Sultan Abdullah Qutub Shah.

25
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i laces ?
u o " ich among the follOng P
The earliest rock paintings in Telangana are located at whic (4) Sanganonipalli

(1)  Kotilingala (2 Utnur (3 Padugonigudem

Boornd® &0 ;g e D dTmam ?

(1) EB8ome &t @) BorRirEo (@) SonSsy
Arrange the following ina chronological order of their‘ltlz;)%;h‘ucﬁon !

A Darwsh-Shifa B.  Khudadad Mahal!| ~ C  Husain Sagar
Choose the correct answer : e

1) CAB @ ABC @)% A, CB @ CBA
BoB T8 APODY reEErSFEost ©S5G)08,

A HE-B> B. aommes s C.  H0R8 FKE

RES SLrpeRsn oD Baskmsn « bt

1 CAB 2 A,B,C 3) 4 CBA

Consider the following statements :
A ABuddhist stupa found near Pashigoan village was built in Limestone, _
B. Kotilingala was an important Saivite centre during the early Sataval_la.na period.
C - InPhanigiri, the Mahastupa was built of bricks.
Kondapur was a political centre during the Satavahliana period.

Which of the above sta ts are correct ? 53

o
1) B, Cand D only* (2 Aand-Bonly
(3) BandDonly @) A,:____ar;]d D only

S 80B (B5S5550eH $0KBosHE, =

!|=— .
1= F
i3 =

A 8o 3K mabo)ds S Smssn K Tonst90)050a08.,
B. &9 dzririe sood®, B880me Swgs 33 g_@g__ .
C  pdn8&%y DIHPDED wentos® NGjoserdiod. s B

D. Forrirb sdmsrde seost ) oresfad éogo;
23 BEYS SS5s06® 59 3350 7

(1) B, C&Bai» D &g (2 A%bain BSmgd
() B&Bdsm D Sm(@H: 4) A CZ0at D Smess
Identify theincorrect pair: ;
()  Mahajanas - Brahmans living if.agraharas \f
(2)  Balinjasetti - Trading caste &%
(3)  Asamkhyatulu - Saiva Priests ::?—j
@)  SaniMunnurvurus - Agricultupal labgurs
S0z 28 HBoHED, I 5
oFfadven = SIS Sne® () ?:‘i L?a%‘ém ¥
2 0d0233G - TS oo %’-‘*—____
B @Sogrsen = B8 Jeerden Qj:
(4  FV-sndrhen T S Seben A

X T
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mon"’f)' the wrong pair:
0 Panchamukhalinga - Warangal
&) Ekamukhalinga - Alampur

4peeR W 1H00B0k
m Sossopdoio - SBoKS
&) ~ESopdoro - eswosrb

(2)
)

Si .
C’;haaralmga - Pillalamarri
?3_turmukhalinga - Kaleshwaram

£ £
Yot

@) BHooKo - pyemp
O fﬁiﬁ?ﬁa@:&oﬁo - S 84B0

F .

— e

Match the following areas with their respective ke ol
?P lar numbers of the Telangana’s Artificial Intelligence

framework, 2020

Focus Areas

Skilling and education
Governance, ethics and privacy
Research and innovation

onN=Ey

Choose the correct answer :
(1) A-IV,B-V,CIL D-I
3) A-IV,B1,C-V,D-II

Enabling adoption and community collaboration

Key Pillar
E 03
01
05
02
04

ity
)

=

<zEE"

2)  AJLBLCIV,D-
@) A-LBILCV,DIV

Boorrs 5B Y (0552020 6° &)y FBoHRBS Sob womed THE Yowohodd Hre Yogre Hoags®

3BV . e
HR FOoDS oI =5 Sore Hogren
A PHrags S0 DS i‘f L 03 al
B Dod, D85S S0 FHS i B
C  $BEES HOCED SDHT "m0
D, SusH ems HOckH K ST =W 0
= V. 04
5515 marpu) DOSHE I =

(1) AIV,B-V,CI,D1
3) AIV,B1CV,DII

As per the Telangana Socio-Economic Outlook-

@ AILBLCIV,DI
4 ALBILCV,DIV

statements related to Aarogyasri Scheme in Telangana is/ are true ?

A The goal of this scheme is to assis
B.  This scheme offers financial assistance upto RsFB; lakh per household per year.

Choose the correct answer .
)" Both A and B
(3) Aonly

8ot mrgmges® DB/ ey ?
A gos el T &
B. & Ho abh Bnow”
888 Jdrgrar), oSBT !
(1) ABdsn BBoEr

B) ASmSD

t the below poverty

P
K56 (BPL) 89 E0e0gpold ©

]
= iF
= T
=S

(2) _B_‘_gl'\ly
4 N é;;ither AnorB
;fggza: S0 8o0

) B L&
@) A obcin BBOER S

X

2023 of the Government of Telangana,

which of the following

line (BPL) households in the state.

Boorre ([HLHSD) BOOMTH Do -0 mma@g Pt oB'gd B8 %000809
Shado Soho & S Gd) g0

D8 HoSETRE E. s@ 5> Qs Gisabo ©OBReD.

PT.

#

C} Scanned with OKEN Scanner



a5,

96.

'ET

|

The objectives of Telangana Internet of Things (1oT) policy, 2017 are: ate direct employment to 50,000 people in
A Toattractinvestments worth Rs. Ten Thousand Crores and gener
the next 5 years, —_— lovi roof
bnagar districts for deploying proo
B. Create 4 zones each in Medchal-Malkajgiri, Karimnagar and Malabybesg
of concepts (PoCs) in the ToT Spacei
)
Choose the correct answer : :‘ .'E..'F
(1)  Neither AnorB k i (2) Aonly
(3  Bonly N j’; 4) BothAandB |
Soorre 2oLTES e &oh (IoT) 3)@?{;:;;?017 OFe0 : ‘
i & (5 ¥ |
A o5 ok SoSrest Ha ESE‘&E‘Q Erdrae Dégathodd w8800, HBakm 50,000 Hood _Ll}_;&:.‘k.
7/' a0 ¥9yoisiso. £3) '
B oiddo D&Se Solmre (PoCs) DBePa8 Fots)S-oemEnB, B80S, SorarSsKE soredt, .89
TRE° Trenth Moleress (zones) Dy5:5Ko,
RBR BErr0 DoiHsol ;
(1) A Bdin BBokr 525 (2 AsmED
(3)  BIrgab . (4 A%0d% Blor
‘Mahalakshmi’ scheme of Te]a:gma?gl‘_:iemment is a women empowerment scheme. The eligible women are
provided : _:“i
Financial assistance of ¥ 2,5001:ierefmonth. .
B. Free education to girl smdenf}'ﬁ%uring admissions in higher professional educational institutions of
. India. i
/{ Gas cylinders at ¥ 500 E_
})? Free Telangana Road TranspottCorporation (TGRTC) bus travel across the state in express and palle
velugu buses. -
Chogse the correct answer :
j A,Cand D only (@ B ,CandDonly
(3) A,B,CandD 4 AandB only
SOOMTE [EE0E Sifol) Sito 6D Sotre POTES Ko, OGRS DS B T DI KikokrrEroy ?
A Tes Or, 2,500/-@%5’ deaoh, s,
B. o708 aifys )8 Do ﬁo@uﬁi‘;@&m 0B erd¥eH ans Dy P00,
C. & 500/- o8 Ml 2OoLE eeigd? H
I-“-L,"I.
D 8eorre &8 Sarer S0 (T 'I%: S B «
o % 9 ( g ) Seoshioigy BT, 38 Jewity oot o8 Sooser ans (Bcsre
oforne
KD SEPEB0 oSS ; i
Ka!=.] th
() A CioBasn D&l 3 ") B, C5008 D w5y
X] T
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Match the following schemes with aims/ Obiccm{m {?f these schemes in Telangana :
Aim/OIJJCCl 1ve
1 Financial assistance Rs, 2500 for women
.  Nutritious mealfor lacta ting and pregnant women, and childrens below
6 years 't_‘f'ﬂv_',.i

M. Financial Assistance for bride’s marriage
Iy. Increase Tree Coverto BB%QLtntal Geographical area of the state

Name of scheme
A Haritha Haram
B. Kalyana Lakshmi

G Arogya Lakshmi -
D. Mahalakshmi
Choose the correct answer :

(1)  AJILBALCIV, DI @  ALB-IL AV
() AIV,BILCLDIN (4) AV, B GIL D
Boorrers’ [Bod Sfsred 6 HEso OE0/ 65,;,5956 ﬁééﬁfﬁ?éﬂg ™y
Si¥o Db Yo/ adHo 'y '.'ifi
A 0 o L Logrfoth T, 2500 w8y A‘S}ﬁ@j)o
B Sevgm of) L 0H) Segen SO0 Keyl Geo, 58 6voBBTreE0E S SADDY
&%) dyed PEAFTY vohoiwo
C @55[‘?5 of m 58 DaptRE @gé JFoho woboiito
D. HSofy V. oo P08 DRF0S" skl Dl 33% 08 Bosto
BOES DEFTEEERY ODE Hakodm
(1)  AJILBILCIV, D @) AJLBILCIV,DI
O AV, BIL G, D-II (4 AV,BILCILD-

As per time use survey (January - December, 2019) conducted*by-the Ministry of Statistics and Programme
Implementation, the percentage of females involved (in both ruraland urban India) in unpaid domestic services
by devoting about 5 hours per day was: j e

75% @ 70% \(3( 80% =, 4  60%

]

ok Bk DHiSSe wen HoBByEP WGEFODS TO SITFNS BBy (2590 - &owb 2019) @EstSo,
300989 )i e F6% Certh 5ot HTH S0 Seroned et FE0 (groEE¥0d [ridn SO

Sige Froered®) Qo8 @ob ?

1) 75% @) 70% @) 80% ({3 4) 60%
As per 2011 census, the percentage of Scheduled Tribes in Indiaig>=

(1) between12to13 {% below 5

(3) between8to9 between 10 to 11

2011 zargr 850 (©Bs°60 PBEBH0S" TS Ble T80 Q08 ?

(1) 125008 13 St @ 569

(3) 8ok 9oty (4) 10008 11 6y

Under which of the following Article/s of the Constitution of India the government is empowered to make special
provision for women and children ? g

i

b Article 15 B.  Article65 &8
Choose the correct answer : b
(1)  Neither AnorB -.‘(Qj/q A only Hr"'_;‘-"::F—
(3) Bonly (4) BothAandB.

gr68 Tagoiio) (BoB O ©hEBeH0 /wpstare 8ol (HEhEe ;5:%59'@ 2005 oo 8o [HEE Aporiiod
T,

Srdrobfostrll ewbseto EOR Hob ? 2
A ©f8tmo 15 B. ®5%5e0 65 1]
$08 e:aranisd oHET S : igj?
(1) Abcso BBokr 5oy 2) Aswgd 5
(3 BErgd @)  ADBak BBOET

X [29) P10
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— ed?
-Kisan Samman Nidhi was releas @) 16" installment

101.  InJune 2024 which installment under PM 15t installment

(1) 17™ installment (2 14"M installment (3) 5
S 2024 &° PM-8308 REYS D8 808 AFY) DU oo Faholod @ 168 ek
1) 175 dus @ 145 958 (@) 155 &S

. . ?
102. ich of the following statements related to MGNREGA are true L ast 100 days of guaranteed wage
It aims to enhance livelihood security in rural areas by providing atle

employment in a financial year, % individual beneficiaries, roads, canals
K It aims to create personal, durable assets such as pucca homes for individ
etc. L

)

pieferred.

‘_E/’ Under this scheme labour intensive works aré p
1 mtensiv

Chopse the correct answer : =l
A,BandC (2) _AahdBonly

(3) BandC only - (@) ﬁ@d Conly

MGNREGA & Sow0808 (80s amypes® 55 ady 75

A af e Soss)sost éémoéﬁo Bave ai)::. S Fay ©oBOBKO T ([Pote (Eromred® 555306
FEES Dofrotiodiso 6 eggo, —

B. 58 ofrrthe 850 $5 if)Fen, 5%, seesden SdPSénSod S8, SONES edreido DHhosso 8D
oFto.

C & 3850 8o (F Foliss Hidoess @ur;u;ﬂegé B,
0N esPenSy QOHE Ko

(1) A BSBoinC ) - AStam B &(g2h o
(3) Bodatn Camgd | 4)  ASbus» Cmgd =N
The six faces of a cube are labelled with nump N
The cube is opened in two different w
]
3 2

3 3
Then the numbers on the faces adjﬁcent to the face numbereq 2 are: |
D 1,256 @ 1,435 13,56 @) 1 1,4,5,6

a8 oo T8 et Smgre 3 Doggen 1,2,3,4, 5 0B 6 gy m@oﬁum

a

e Z{Jaavﬁa'aoeﬁz e BE5m @) Botr & Qs é:‘(}&“m;anm,

a1

3 2

@ 1,455
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106.

ET

find the missing number in the following serics :

3' ln-l,. 39: 841' 1551 _?_a 399

an 29 (2 256 3 257 4) 258

80B EBe® o Boggil K%os%od,

3; 14f 39! 84!‘ 155? _Lf 399 ——

P 259 (2 256 @) 257 (4) 258

1‘\]\-0 sctla?tements are given below. With reference to cause and effect relationship how these two statements are
related ! e

Statement I : Last year more than twelve lakh students applied for JEE Mains who aspire for getting
admission into 1ITs for a total of 17,000 seats available.
Statement IT: There is a great demand for the'courses in IITs which impart very high quality technical

education to the students. ~ ~—*
Which of the following is correct ? :
(1)  IandIlareeffects of same cause
Il is the cause and 1 is its effect
(3) [listhecause and Il is its effect
(4) IandIlareeffects of two independent causes
8ot Bod [BHITen BdgwEron. S50, (Berson &) & Both O DS Howoged) BN aTyo ?
B5S%o 1 MTod® Ko 17,000 St e BSdo SotmRB 18 Sosg)so JEE HanJy S0 oo Pre
Dmgtpen SBHPy DHHTAD. ‘
E5Se [1: Do odied g o885 Dt Kobotos® Mesd Bl e &5rol &ob.
Bob HSE° Db FPIG ?
1) =8 sEmeRB BowofodS (Herard bl
@ [Os5wo sorr ol (Herdad ] ol
@) IsoBmo s ool (SHersd I -
@) Totd DY) sebere GwE) (Herard 15H0cn ]
A statement followed by two arguments are given below. Identify which of the arguments is/are strong to sup port
the statement. =S
Statement : In the present day scenario it iscnecessary fot a teacher, to excel in his profession, to embed
technology in classroom teachinig fo enliven the classroom activity.

|:"I

TR

5

1
|I

=
il
il

“t‘l""ﬂ’l:

|

Arguments : L Yes. Using technology fn_the classroom teaching not only enthuses students but also
one can make some difficult abstract concepts visual so that the students can better
understand concepts. .

IL No. The use of technology in classroom teaching puts lot of financial burden on the

students.

Choose correct option:

(1)  Bothland Il are not strong (2) BothIandIlarestrong

W Only I is strong (4)  OnlyIlisstrong

Bots & (HS5SH0 BIELD Both aENen &

hboSol. 'S
GaSto: B elns Sogbolt e alrtryai 83 $HE° CholeR SEHBrOS" R0t FosEH
o eRERG, Saoe S50 KBEY BN SdHore SoRER Db,
ees: 1w, S61B HEC® GHSSE ArodBEsH S0 39 Dt aEmESR) NoBED S8 STy
£ KBTS obrS graves Be)ino edYPoSHRY Sorgoe DIHRED © FFSIOH
HoB0od zrr 6o Brostriepeetd,
I 8, 8658 KOSt 67558 FoBBEED GFBostos® ArgeD BBESEHN Frio Bhod.

Smpo.  (BHSTRY BHBoBHOE O TETe FESILIS

998 o=y dinstob. {13
1) Iecm Hed® O poPl imre 59 () T0cin en Botd wui e
(B) 18wB Do D @) NSeED ood 6l -
X 31 PT.O.
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ET

What is the order of the following five words as per dictionary order? %

A IDENTIFY 5Y IDENTICAL C. IDEA
D.  IDENTITY E.q  TENTIFICATION,

Choose the correct answer :

() CEABD @ CBAD,E & GEAAD
5ol wih Sore Gk Divon KHBe ? :
A.  IDENTIFY B.  IDENTICAL :
D.  IDENTITY E IDENTIFICATIGN?
Bod >8S* Bowaws oY BT

() CEABD @ CBADE @) GCBEAD 4 CEBAD

A statement followed by two courses of action are given below. Identify which of the courses of action to follow to
address the problem in the statement.

Statement : Recent reports show that eating hat fed in plastic plates is causing stomach related diseases
and leading to cancer in many cases,=

Course of action: [ The Government should ha.n}_the industries manufacturing these kind of plates
immediately. e |

:" |II

oll

IL Wehave to bring awarena

g the people about the consequences of the irrational
usage of plastic in the daily

X ...“.‘%;ii

),
n|'

Which course of action follow for the problem stated aEwg ?

(1)  NoneofL I follow () Qalyd follows
(3)  OnlyIfollows ._(ﬂ«}/ Both Tand II follows

ot &8 (©B550 3Roed Bows S0 TOR Sty BTN, (BH5SS5065Y) DRy HOIEAE B Hgen
B80S 80D,

BadPo: & ot $DyS JFaLen 5 5B 38 wistso a0 59 &BE 02088 e snﬁmawéaoﬁsf‘?}
Ter Solioee? %55 svﬁmﬁwésﬁ“é:_a%m BandhTnom.

Stsen: L & 5838 SBod Soirt 55 :;aigs*w (Babeo Ao %DB}“D
O DEdses® sgriirgon & E@E‘m

2 D BORTRB O Hsen wkodBomD ?

() 1$0cIePEN ekit00sd ()  [598% wibsvoms

() ISrED o860z @) I50cw Men oY 0009

X =
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A person started at a point P, moved a distance of 60 meters towards fiast and reached a point Q. From Q after
! i ntQ. FromQa

10 : .
ravelling successively 50 meters, 100 meters and 90 meters by frn . : .
point K. What is the distance from I’ to R and the direction o); Pi; r;?“géo?hm eftench Bime and inally resched the

1) 40, West @) (2) 40, North-West
O 2| “®
F — __ﬂ ] 40 \@
4042, North-East —:(@) —=,South-East o '
ENT ~ "

- 5"-___: . *
o &8 P oS DohH Hol Q o Doty VTS drdy FH8 60 doisthy Bt om}:’o. Q 08 SEHT
50 &b, 100 2dE, 90 LY FHPI-HS FB 08 5 FHG BKHEr PHoSrdoD R Doy Do,
Piook R& o &r8o, R0l P &wk) 8355 58508,

(1) 40, DEDT (2 40, mrcdgo

- 40
(3) 4042, &P ® 7 esfyako

110. I Ayushi says, “Payal’s father Raghav is the only son of my father-in-law Manohat”, then how is Priya, who is
the sister of Payal, related to Manohar’s Tnkj‘tﬁ?[xlzu*.l' ?

[

(1) Grand-daughter (2) Niece

{7

|-...|l|| - ||m|.||| Mipaonl

4) Daughter-in-law

m

!

(3  Daughter

T EFTES SSteb DEE HEFGE e, RaHS @n%) S0 o soind Ta, ebS FED sand Bab,
SSF5E gty o8 DD DB ? | 2 > Ay
s

Q) RPEHD/REED i D & D

o AX F
¥ \ 3

a

ML Six persons U, V, W, X, Y and Z are sitting around a circular table facing the centre. Uis fa(.:ing V._V 1s1to the
i’I'I!]:'-!r:ediﬂte rigi‘lt of Y and to the immediate left of W. W is to the immediate left of X. c'Z is to the l_mmledlate .nght of
U. IfY exchanges his seat with V; X and Z after interchanging their seats turned 180°and sat by facing their backs

o the centre of the table, then who is sitting o the immediate leftof X7

[.__,- o
M u @ v (0 @ X @ Y

‘“ %. VE eddopore U
¢ } Koo Sstaen U, V, W, X, Y 500050 Z &0 ErETy
w8 Symerissy mey chty Bolehimmon el £i9 3 v, X& JEHBHS FHI0LI W

3 W B AEDPHS Bbdod
6T, Y HAPDS SoIowd HbA .Y 3 e o e S, X 500k 7
Ko Bolrisnpore otbgm Sriikond,

6, Ut B3 PoBobd Z mnl aigped YO Ve S
® 0 Yo SERHB0 SrEYHTY SoE 1807 60N >0 5P &
SBPE X 6 DELTS B0k sl et ?

|
|
" | i

P
At

f
y
-

Y Sidsioren

(B) Er&bh @) &en

1}

M v @ Vv @ X @ X

ET x 33 P.T.O.
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; ion(s) follow fro
112, A statement followed by three conclusions are given below. Decide which of the conclusion(s) m the
statement. '

Statement: For the post of president, of a club having 40,000 mem!:ters thee c;tclidid:ete i,B t.311511?{’1 éf) Ef:‘lr':)t::t
; elections. In the election al] the members took part wﬂ%ﬁ—%mg;m A :
more than that of B, B gets 1,000 votes less than C and C gets 2,000 less v i

Conclusions:  *_17 A won the election, |
I ™

g
. o' g
. ™ th . \
k,,.l‘{{/7 BandC together could get E| of total votes. 9 507 “660
g 2.
™

e A
-/I( 15,000 votes went in favour of A. Q) J} "
Which of the following is true ? V% '> ’
(1)  Only M is true A
()  OnlylandIlare true | 6)&) % 6
AF  Allthe three, Il and Il are true 7

(49  NoneofI, Il and Il is true

8o 28 (B55%0 3% Somd ot Swhoden ‘aﬁsh

aF (BSSI0 ol d IwhoHen ©PJaEr
K)gomoané’). '

i

LU T

B5SS0: 40,000 500 et o8 555 o S508 eRbroE IYSS® S0k dfden A, BB
Ced T8 Do, & IYSE* fgpotitr ETSEHSE D Lo DSPEo B, sothe’
A BE 3,000 & %5 oo, CER) BH 1,000 8.4 SSpdre Samom. A E5) CS 2,000 6.4

‘ . BESr Samyan,

SofoPen: L .. IYESE AROTD.

: 5
I BBain» COLEr £0% 3o Liys® g @ S0 &an FRomeh.

s
M 15000 68 A% sEreom Semene

(Bol =BS° HB Do ? j‘g
(1) I&eED Deso 5;:
(2) T:oBain I SmE deso ;.l‘j:.}
(3) L I50Bcso IMen Smtér Daso T

@) I II50amMed® D6 deo =5

ET X

34
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The organizer Hof a gathering invited five guestsP, Q R SandT )
5hgl-l::lﬁ'r?; (%III 'thfe chairs which are on the leftside of H, Black Bfue éthe Chl;eilguilsi&i the meeting. All m':f;e
Chairs. ie giest T sat in themi i eatatics » Blue, Green, ed an ite are the colors of the
sitin Black chair. Q satin the middle chair of the farthest ﬂf::: Z‘k‘;‘:l;; ltitfi ngtttil colqg d’Ilhe fues?:; and Q dic:}:r‘qt
and the middle chair of the nearest thre€ P\
N\

chairs is of Blde color. -

{f the nearest chair to H is of red color and Ssat in it, then tlie (; :

() . (O,Blue), (Q White), (5, Red), (R, Green), T, i s s o I W
(P, Blue), (Q, Green), (R, Black), (S, Red), (T White)\” | > A % N

@ (P, Black), (Q Red), (R, Gr:aen), (S, Blue), (T, White)c%;__ & @ - Q \é;.,‘(

@ (P, White), (Q Black), (R, Red), (S, Green), (T Blue) _ B Qo dh

fz;;éﬂ zi:;;;s;mj?z;&f? Tpu,f’ - im S; To%BH8P8 wosed wiioim, H Hspds 9.5

RN o g 086, SO o Ve o

» T 5, B DD Bensd %o, P

zf% ;{l; ;;@ ébi.)f Soes® &) Beood Bord HYE SFBoT.  edbes P o Qen S& Botd éaé.';%

. H Sorr &) St HEd® Sy IS Q ErtyTo e

. B

) Doo Borbd. QTs. HEd sigsre ﬁé;égm Hiyed® Dty
H& o8558 &) ©8) ABoPH Bordd eow RS S Er8no8, wipt (@88, B ©

A

b@:“?ﬁ_:{mm A ( \

Q) (P,900),(Q3e0D), (5, H5), R, &5, (T, Seiid) *‘3 C
@ (@ 8e0) (Q =D)), (R, $20%9), (S, o), (T, Benid) : A 3’_.; ﬁ.t
B (@ 8e) (Q D), R eH5%), 6 o), (T30 | @,”2 F%;” &=

-

@ (P,BwD), (Q o), (R, D), (5 @53, (T, DoeTs

A,B,C,D,EF, G and H are the members of afamily. Ais fieg;ﬁ%omer of B and B is daughter of C. Dis father of A.
E has three grandchildren and Bis the only grand-daughterof E. Fis dau ghter-in-law of Cand Gis unmarried in
the family. H s son-in-law of D. Inthe family, if the number ofmales is same a5 the number of females, then how
isErelated to G ? M

() Mother-inlaw  (2) Father-in-law ~Grandmother 4)  Grandfather

A B,C,D,E, F, G 56050 Hen .8 o Seigen. B FooBRFEBots> A Sobciin C Took B30 B. A &) Sol& D.
E ife St Hansoen / Sosorrofes® B LS Sodaomhen. G ), S%den F anboid é:_eaaomoéﬁ G% Daesiin

8. D G oo H. @ otmopoS® SN Sosg, G Yoy B&rdo wond, G% Ed vHEd ?

(1) edrd (2) Srrd (3) o308/ Tahdsy (@) T8
A statement followed by two assumptions are given below. Decide which assumptions follow from the statement.
Statement : To make a trip to Qoty on oth May, John decides to book railway tickets well inadvance in the
month of March itself. : _
nths in advance to avoid last minute rush. =

Assumptions: L Railway reservations can be made fwo mo

L Johncan booka ticketof any desired class, as there will be more vacancies.

(1)  Only Ilis implicit chi;aﬁallarempﬁdt
(3)  None of [and Ilimplicit @) Onlylisimplicit

& o)HPIr QGonoT°D.

Bos 2.8 ($5550 o DO @ssiben DERETEOD. & SO HSsHo o
Lpolored 78y 30673 B8 &35 e

B5S5%0: oS o3 58 3 3o 95 D0 b O5S T

Bt K)Qoaaoiﬁ:éaﬂg_tﬁa. i
' e &8ep @05 BorE 5%,

Lrsny
All1l|

1

056 DKo BED B0 SR8 BaReo S0 O

&8s L

1. eer a‘?@wocﬁ&)o B0l ) &0 @K]& E;"";f:ﬂé) éOE’JD@-Daﬁ &35}5) 205 3}6355553.
(1) IS add aob () Inocsmiled ot a0l aTHoN
B) IsbcinMes® Ob abd B @ 1EwED ads éob

E [35 PTO.
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Read the lollowing charts care

The following Pje charts rovea]

fully and answer the questions : (116~ 1121-5 and male members in five healﬁ'lcluhsp 11
s the informati aing tal mem i

R.Sand Tin the year 2021, AR g to-?-""] ut of a total of 6500 membeyg ;. Zivey .

bers in five heallh;: cliabs inﬁz‘ll,}: ;Iec;lth clubs in 2021 outof a tota] of 3400 ;‘;ﬁ

The distribution, of tola] number of mem
Piechart 1, while g, umber of male members in

e distribution of totaln

members is given i Piechart 2,

Total 6500

Total 3400 Tl
3 %01‘9
Pie chart 1 Pie chart 2

116. The health clubs‘havmg more female members than male members are :

@M RT @ QR

-
=

@ PT

117.  Ifxis the number of members of a c}

S

: members and yis the number of members of aduy

ub having minimum fet
having maximum numbers of males, then (y—x)is ‘;‘m.ﬁ \ " 1250
1) 1430 @ 1560 @™.i2030 ) |

(Bod Serodd eET 369 BHe (116 -117) 0% SSrgrisndes.

2021 5035E)B0S" wih S KayBS P, Q, R, S 580 T o659 o Hefger SO HEK B505w DI Bod Y (piy
Dlgeen DBSBJow. | 5

2021 &° Enio Fasgen 6500 06 ) TG Kot Kee Borgw Do B (Pie) Do 1575806 s 21
Swo a’g)ti:a’: dghgen 3400 &° et Bapos®d Homde Rogge DStre B’ (Pie) DFo 2 SrHdod.

S20g50 6500

|

|n||lr-|ﬂ§|- |I|'.I:||

)
iy

I I'J|
L

D ool P 01802

EILET

oy

116 HBH Behgosoll, HErY Hahgen RS )
1 RT @ QR

bCan

&

g
'n

Ir.
.

G

F="RS @ PT

117.  oSrtie Soag 8RGorr o e Kap&™ Ando Sebgw Somg xeR), Hspen KBGore Ko o6 §EED Anifo ¥
ogy y o008, (y—x) =

(1) 1430 (2) 1560 3) 2030

1

@ 1250

G Scanned with OKEN Scanner



gead the following Assertion A and Reason R.

1
jon A: .
Assertion 1f x, y and p be distinct real nnmberssnlinfying(p ) )>0th
~-x)(p=y)> en p lies in between xand

y.
nR: !
Reaso Product of two numbers of same sign ig alway,
S positive,
Choose the correct answer : -
]

()  Both AandRare false.

() Adistrue, Ris true and R is the correct explanation of A,

3
@) Adisfalse, Ris true.

A is true, R is true and R is not the correct explanation of A

o

(BoB 8o A, 5°8mo R 0 et lelnt

s%aﬁé oA: (p—2)(p-y)>0 o5 $HHKOT Dgore x, y nddkn % BGs0
) Y w DPF) TR

: . ) P B TN VoD ond @D x
eodwo R: a8 oo Bod Qogge ©Ko NISENase ge&)Eo.

;6_3_:5 e DOTHE N ¢

(1) ASBa®Rew Botir edeEso.

@

(3)
4) AedsEo, RJIE0.

SRETXHBN. In the same code language which word is coded as

19. Inacode language MODERATE is coded as
X AT

BONTER ?
(1) ZRJYKK w2’ DRRYKY (3 DLROKY @ ZLJOYK
o& B°E zra6® MODERATE & ORHJXHBN re 8% 3%8. o3 gras® © Hio BONTER ™ S5 Soera®od ?
(1) ZRJYKK Wo” DRRYKY  O) DLROKY @ ZLOYK

g

2. Asolid cube of each side 8 cm is painted W1ﬂ11’1’e&d, blue and black colours Such that cach pair of opposite et
have cac SR, The cube is then cut into cubl&i] plocks of each side 2 cm. Then how many small cubes have

atleast two faces painted ? B

SR
&553 s SFPOR &8
. ghesore Ko O

(4) 48

Sot sotr B, Ao
Gomeenre 80000 P

@ 16 &
3 B0, acsaa%_iis:ne ady
6t Beotp Borbed® Bord 0. @ éd)ﬂé%&{ﬁéo;ﬁn 2720.

Spgrep Bord ’5_;3523& aotnod ?

A D) ForreH EISO Botd
® s h ®

H 32 2 16
@ E{ﬂ P.T.O.
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121.

122.

123.

ET

What is the term that fits in the blank Space ip fn"nme lelter series ?
¢ ]

PZN, KGL, GM], DRH, ?

() BVF (2) BUF : b/ @) AVG (4 AVF
Bob 55 FASD b RS0 003 Bie 50 9

PZN, KGL, GM], DRH, ? |

(1) BVE @ BUP 3) AVG (4) = AVF

Calender of which of the following years, exactly match with the calendar of the year 2026 7
(1 2031 ) 2039 (3) 2038 (4) 2037
ol 6S" 5 SosEySo ) sxBotsts Ko 2026 oS TBoEs® Sefion ?

1) 2031 @ 2039 i (@3 2038 (4 2037

The 1% January of an year X of 20th centur%g i SUNDAY and 15t March of the same year is WEDNESDAY.

In the same century, for an year Y, the Slsgg%mba is SATURDAY and 15t January is FRIDAY.

If D, is the day of 315 December of year X Eﬁ

D, is the day of 1% March of year Y, then (D;, D)=
(1)  (SUNDAY, TUESDAY) (2) (THURSDAY,FRIDAY)
(3) (MONDAY, WEDNESDAY) (4) (SUNDAY,SUNDAY)

20% $epE™ &8 KodEyo X Enk) sS581.5.88 shmvo sorr of SoSEsd &79) 15 B6% wdardo sawos

ol 7R el SoSdyo Y & Somofot :é"__'i’aoa:tia 313 B IA0B0 e, 2558 15 B85 Hsrdo wonok

o 2

X S5 506t B0t 318 ) B'e D).l

-

Y dosésod® $rg) 1% %) S'erd D, wks&iod, (D), D,) =

L
(1) (wbarbo, Hol¢arto) (@) (DBardo, HErs0)
() (RFSarbo, entiario) 4) (ebarbo, wbzrs0)
x 38
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- the tollowing data carefully and answer the questiong ; (124. 1

3 ,-1,11.“\-:;[1[: tn'l:t shows the number of students attended for - )

Cand p. The percentage of students selected for the jobs from eagy, g{‘)‘]li‘;;cc.ruli::nent intze{}r;ietzn(r)szfzrogg 2t’?(,n.u cogeggs AB,
i 7€ in the years 1 . arealso given:

pm——— A - 'I__-__-‘-"‘-—_.__
B Ty

F/______ Ny C D
yeaf ::;m(:s % Nogoh % | m No. of

5 0.0

Selected | Students seldcted| | Students % %

Appeared Appeared Appeareq | Selected imdet;‘t:d Selected
b el ppea
5021 2000 39% 2020 35% . 2200 \gg‘g{
2021 1 33% 2900 31% \
2022| 1850 28% | 2100 43% “|-'/2500 429 2700 349 | — 5%
| — 5
2023 2200 33% 1900 46% 2550 30% 3000 | 35% }){)/o
- — >

124. Allthe cgﬂe_g_eipyt together average number of students selected in the year 2022 (approxim
(1) 1050 1250 (3) 847 (4) 968

125. Thecollegeand the maximum number of stud;t;;elected in that year in which A witnessed maximum number

of rejecﬁons are: Y
1) (D,1050) (2 (C,1785) =_ (B, 1026) @ (C765)
ots 55 BTOTR) SIS SBD (S (124-125) 0% SEPFEDSOE,

_ A B,C 500 D ol Srearoe &od (@rokn deirdsse Sngrdndl $=pd dogie Sopg® Bod H8Y SFHEod.
21,2022, 2023 SodGyred® a&iyTeS (8 Swre Hod IS dghe TEre Sro SHERSE :

A B . C D
S5eBS FeDS 2 FeBS SFeBd
Sosys0 NS R RED DYBS
&oe D © Do |- Demge
MC o0 S0 o 8 S0 2 6 S0 ¢ |8 =80
2ogg Hoag Sowyg Romg
2021 2000 39% 2020 35% |, 2200 33% 2900 231%
2022 1850 28% 2100 42% 2700 34%
2023 | 2200 33% 1900 30% | 3000 35%

124, o) bgraroein 08 2022 ﬁoa’)é’ﬁéoﬁ” am;gs[?gw%z%u Hogge K156 (GeERonoDT)

(1) 1050 @ 1250 41} @) 847 @ 968
oAy )
125 Sero A &P K0 Bomgd® DoeEBoSORS awﬂé%éﬁn <2 St BosEos D Srraod® KoP Bougs® Dorgien

Dt @ Semare HBAD @ KO Song 56 7
() (D,1050) @ (C/1785)

i
1

@3 (B,/1026) 4) (C,765)

x ) 39 P.T.O.

ET

C} Scanned with OKEN Scanner



Study the following graph carcfully and answer the questions. (125-127)

The following bar graph gives the data of the number of users of cars of Brands A and Bin five cities P, Q,R,Sand T

& (800 AR TG SOBOOD 5400 (126-127) ety gyaeemen (@08
P, Q R, S&0Bcin T K006’ A 5000 B e tigee N o) & (Bob B DFod” adpate.

Brand/ @Wﬂ !:

3500 -

| 3000

3000

2500 -+

2000 -

F 1900

1500 -+

1000

500 -+

126. Average number of cars of Brand B is less than the average namber of cars of Brand A by :
1th
(1) 5 of the sum of the number of cars of both Brands in city P.

1t ‘
(2) 5 of the difference of cars of two Brands in city Q.

rd
(3) % of the difference of the number of cars of Brand A and Brand Bin city T.
A
1 rd ?
“4) 3 of the sum of the number of cars of two Brands Asang:B in city S,
==

=

erof A =g Hiitn Somgis) (erof Bseg e Sogy Jok e&_‘.{ ?

(1) b0 P& Both (zrotly = Hom 8os® SenaiSo% Simso
£l : "

7) Mo Q& Both (eroll o8 B 506® wonEtS0 s

)] (Eroff 578 Soug BiSod® wanSoky o,

() &iido T & (grof A, [wrol By Somge Fios® suealgods Hsmso,

@) $K80SE Boto oty A, B Soage 30808 SumEdSoms, RES S

X

40

C} Scanned with OKEN Scanner



127. 1£10% of the owners of Brand A cars of city T migrate to ¢
increase in city Q 7 ty Q,

(1) 38% (2) 45% 3) 509

then by how much percent the Brand A cars

4 25%

B0 T &0 (erok A =08 Rrodmrtood® 10% 08 $Kve Q8 038, $i8o Q&° ol A 528y dod o
20 ? s ’ ‘

(1) 38% (2) 45% 51 @  50% 4 25%

128. In the following question four statements followed by four conclusions numbered 1, II, IIl and IV are given. You
have to take the given statements to be true even'if they seem to be at variance from c::umjmonl knowﬂ%]acts Read
all the conclusions and then decide which of the-given conclusions logically follow from t{e iven state.ments
disregarding commonly known facts. : &

Statements: Some cats are dogs.

All dogs are tigers.

Some tigers are rats.

All rats are snakes.
Conclusions: L Some tigers are dogs.‘/

1L Some tigers are cats.
M. Some cats are rats. \f

Iv. Some tigers are sna

Choose the correct answer : g
(1) OnlyII IIand IV follow Only IT and I1I follow

(3) OnlyIandIV follow (37~ OnlyI, D and IV follow

8ok HHS® arenid [PELSes, oS 111 11 :;:%Ziéa: IV off &ré% srootd Sohoden sdyprron. B EEhne
Frrbmore BONS e HHjore EAVoNSHBETED Qebd Lordotob. BoRooRQS S8, FGEeHorT
3005 B DRBOD Bl HELS Hollriniohe ElyEormr eORER AgonoKol.

|

4l

(SELben - Q) depen D, S

L

o) Hen Juoe.

E°Q)) speven densen.

©f) devken Frdoen.
Sofiodes : L Q) Heoen HEE.

IL §°Q) apwoen eRnen.

M &) degeo devden=-=,

(1) IO, IS8 IVen (BT ©d0ddReom(2) F [500a» I e S|ED @&d0Pon
() 15000 IVes SrEH oo (@=L IHc Ve (g ©%oRBToN

129, Choose the correct option to fill in the blank hﬁi}e;following sentence.

wanted to, could agk questions or make observations after the presentations were made.

(1)  Whenever ; Whoever (3  Whichever (4) However

ET Ii- | _ 41 P.T.O.
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130, Choose the correct form of the adjective to fill in the blank in the following sentence.
ar

Thisisthe _ meal] have ever eaten,
(1)  more worse (2)  bad @) worse \4(4( Worst

131.  Identify the correct transformation of the following senence in passive voice from the options given below:
g sen

o “
We pass an electric current across the electrodes * ¢

An electric current was Passed across fhe e]ettfcde‘g by them. y
(2)  Theelectrodes were passed across an E]ECtTlC}CLIl‘l'ent

& An electric current is being passed 5 across the eIegtrOdES
}ﬂ' ., An electric current is passed across the e]cctrodeé Cp,v\l}‘
132. Choose the right nntonym of the underlined wor. d Eo ﬂll in the blank in the following sentence.

She went outside to see what the clamour was a]]__'bout but the entry of the police van brought in a lot of
m no hme
(1)  disturbance (2 commotion '_"‘(3)" uproar \(‘4{’ pegee

133. Choose the correct options to complete the sentence.

The admission form gave Sujata the choice to select History, __ Political Science if she
wanted a B.A. Degree.
(1)  neither, but " (@  neither, nor (3) either,and Vﬁ{y either, or

134.  Choose the correct option to fill in the blank.
_that there were games and music, I wﬁ;uld have gone to the get-together party last night.

g% Had I knew (2) Ihad known E@) Had I known (4) Thad know
135. Fillin the blanks in the following sentences in Culumn A with the correct Jg__QrFlgs_&om Column - B.

Column - A £ %! Column-B
A appleaday keeps the doctor away. L No Article
B.  The professor developed sy]lahus mm II. an
C  Thisis best day of my life. —==~= m a
D.  Subhasini prefers drinking coffex m:the morning,. V.  the
Choose the correct answer from the options given below :
(1)1 A-IV,B-LCI, DI ¥ (2)  AILBIV,CILDIY
ATLBILCIV,DI ¢ 4) AJILBILCILDIV y
136. Select the correct option to fill in the blanks.
The striking employeesresorted __ slogan shouting to draw media attention their agitation

(%Q from, against M to, to

137. Arrange the sentences in the correct order to forma aco Lcoherent paragraph.
A In the morning, people gather outside to celg:_fg ate by playtully throwing colours at one another, filling the
C) " airwithjoy and laughter, - "
?B. For celebrating the festival of Holi, families Eegm purchasing vibrant coloured powders a few days ahead
- C As the day ends, everyone comes together fora__fesi:we meal, en]oymg therenewed bonds of friendship anc
& family. T
D.  The celebration continues with music, danc:E &

(1) by, for (2) atfrom

= .._:1—_.._

Choose the correct option : "; q
1) ABDC @ ancp @ Baco @~ B,AD,C
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138.

3) admire, take

Change the following sentence to reported speech

He said to me, "I will call you tomorrow.”

(1) Hesaid that he would call me the nextday. v~
(20  Hesaid that he would call me tomorrow. ﬁ —
(3  Hesaid that he will call me tomorrow. "
(4)  Hesaid that he will call me the next day. . —

Choose the correct option to fill in the blanks in tﬁa_fcilowing Sitianee

Everyone __ Nithya's spirit of cmnpetil:'iirencss, she is always ready to part in sports
(1)  haveadmired, have taken £ ¢ admires, take '
¢ < admiring, taking

140. Choose the correct option to fill in the blank. <
After the heavy rain and thunderstorm, there was they could set up their camp.
(1)  anywhere 2”7 nowhere (@)  everywhere 4)  everwhere
141. Fill in the blanks with appropriate Articles:
Hesaw __ one-eyedmanand____ old woman in his dream.
w a,an (2 an,a (3 an,an 4 aa
142. Fillin the blankin the follomng sentence with the gorrect verb form from the options given below.
Engineers, using a @on, destructive test, nondestructive test, or stress test,
to ensure that products wﬂl perform asexpected.
(1) _ will have attempted (2)_—“1-1ttempts ™
attempt (fél)c * has attempted
143. Choose the correct prefixes that match the word§ below to form meaningful words.
Prefix Word
A counter- s L pollution
B anti- .__— ~>11. measure
C dis —— M.  furictional
D un- <>Z§N . prove
E. dys- V. . screw
Choose the correct answer :
(1) A-V,BLCV,DILEI @ AJILBIV,CLD-ILEV
(3) A-ILB-I,CLD-V,EV ‘F(_d.}-_fgﬂA 11, B-1, G-IV, D-V, E-IIL.
144. Identify the correct sequence of the following Jumbled sentences, which are marked P, Q, R and S, to form a
meaningful paragraph. “__;'_'—'—__

3 P. Box breathing is the most recent regime.

Y R.
S.

g\‘!ll:ﬂr‘l

o

\ Q  Stressand anxiety are byproducts of mod é__l:_ ay lifestyles.
It funchons as a cleanse, calming the nerv és_;a.fﬁd returns the hyper-ventilating rate to normal.
People l:ry every trick in the book to overco g_é‘_t_l_us threat, including yoga, meditation, exercises and breathing
v~ techniques. ££3

ET

Choose the correct option:: Cﬂ/
@ QPSR @) PRSQ Q,S,P,R

() SRPQ
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ild’ i ; i eet.
145. The child’s eyes lit ~when she saw (he ice-cream cart turning their str

(1) out,over uﬂ up, into (3  on,up (4)  over,down

146. Choose the most appropriate synonym of the underlined word.

In politics it is not uncommon to makédyery attempt to subvert the opponent’s party.

(1)  uphold (2) sufapg;f{ \_95/1 debase (4)  improve
er_.___h_ g
147. Arrange the sentences in the correcéé"rd%r to forl@ﬂlw
B, =
\ A Mayordecided to visit his g-ra_ij‘n?f'}arentg in the village for the weekend.

e

"W B.  They spent the rest of the weekend catching up and enjoying each other’s company.
et £

9 C  OnSaturday morning, he boarded a train and enjoyed the scenic journey through the country side.

@D- Upon arriving, he was welcomed with a warm hug and a delicious homemade meal.

Choose the correct sequence :

1) AGCBD 5 ACDSB ® ABCD 4 ABDC

Read the following passage carefully and a.t?;ver the questions (148 to 150) that follow :
Snow leopards live high in the }hmalaf_g,:a_s - one of the least forgiving environments and among the most challenging
places to study - making our critical efforts'to assess their population incredibly difficult. Fortunately, skilled scientists

in India completed the first-ever rigorous éamination of the country’s snow 1eugard population, estimating that 718 of
these iconic big cats live within the countrs Borders. =

Findings in the Snow Leopard Pnp@ﬁon Assessment will contribute to understanding snow leopard ecology
and the importance of their high-altitudehabits. India joins Bhutan and Mongolia as one of the first countries to

establish their snow leopard population. Tndia’s large-scale assessment was highly intensive andTequTeT oo

over 10 million acres-ef the habitatand defplc:)yﬁ.ng about_?l@ﬂ camera traps that produced thousands of photos.

“India’s study marks a leap forward, not just for the 718 majestic cats counted, but for conservation itself,” said
Dechen Doriji, senior director for Asia, Wildlife Conservation. “This landmark effort, s

‘ : panning vast and rugged Himalayan
terrain, provides crucial data to guide their protection. It's a triumph of collaborati

‘ on, perseverance, and scientific rigor,
offering immense hope for safeguarding this elusive protector of the High Himalay

: : as. It marks animportant milestone
in our collective efforts to ensure their survival and that their landscapes thrive for generations to come.”

148.  After reading the passage, consider.théfollowing statements :

A The study estimated that 71 Efl_sﬁ;iv lengards live within India’s borders, . -’

B The snow leopard popu latimg'ﬁts sessment involved rigorous examination methods,
C India is the first country to Eﬂt{b ish their snow leopard populations.
D >o

) A BandConly

[44]

The assessment focused solelj’on studying snow leopards in

IL‘lt
[ e

Which of the above statement(s) is/ﬁﬁ%‘};orrect ?
(1 AB CandD (2) Aonly M Aand B only

ET X
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149,  After reading the passage, consider the following statements -

Assertion (A):  Tndia’s assessment of the snow leopard population involved surveying over 10 million acres
of habitat and using about 2,000 camera traps.
Reason (R): The assessment was completed by scientists from Bhutan and Mongolia.
Choose the correct option : ' i
==
(1)  Assertion is false, but Reason is true. . ~
]

Both Assertion and Reason are true, and the Reason is t!.e?fc%rrect explanation for the Assertion.
5, 2

J}Q/\ Both Assertion and Reason are true, but the Reason is nptthe correct explanation for the Assertion.

(4)  Assertion s true, but Reason is false. L6y

Wi

3
-

=
=l

(i

150. After reading the passage, consider the following statements ; ===

Assertion (A): India’s snow leopards’ study is considered a landmark effort.

——

Reason (R): The study was the first-ever rigorous examination of snow leopard populations in India and
completed successfully. >

Choose the correct option :

I

(1)  Assertionis false, but Reason is true

e Iﬂ

.||F‘1;

W)/' Both Assertion and Reason are true, and the Reason is the

(3)  Both Assertion and Reason are true, but the Reason is n¢

8

rrect explanation for the Assertion.

o
AT

4

£

ney

correct explanation for the Assertion.

2

(4)  Assertionis true, but Reason is false

|
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